Dockets: 2006-1385(IT)G 2006-1386(IT)G

BETWEEN:

GENERAL ELECTRIC CAPITAL CANADA INC.,

Appellant,

and

HER MAJESTY THE QUEEN,

Respondent.

Hearing on costs held on May 31, 2010, at Toronto, Ontario.

Before: The Honourable Justice Robert J. Hogan

Appearances:

Counsel for the Appellant:

Joseph Steiner Neil Paris

Counsel for the Respondent:

Justin Kutyan

<u>ORDER</u>

The Appellant is awarded costs as set out in the attached Reasons for Order.

Signed at Ottawa, Canada, this 15th day of October 2010.

"Robert J. Hogan" Hogan J.

Citation: 2010 TCC 490 Date: 20101015 Dockets: 2006-1385(IT)G 2006-1386(IT)G

BETWEEN:

GENERAL ELECTRIC CAPITAL CANADA INC.,

Appellant,

and

HER MAJESTY THE QUEEN,

Respondent.

REASONS FOR ORDER

<u>Hogan J.</u>

[1] At trial, I invited the parties to provide me with representations on costs. Both parties filed lengthy written submissions, followed by oral argument at a hearing in Toronto, and I am now prepared to dispose of this matter.

Positions of the Parties

Appellant

[2] Counsel for the Appellant notes that the Appellant was successful in its recent appeal to the Tax Court of Canada in *General Electric Capital Canada Inc. v. The Queen*, 2009 TCC 563, and therefore is entitled to be awarded costs.¹

¹ See para. 7 of the Appellant's Submissions on Costs. There is no detailed breakdown of the \$2,775,740 which counsel claims would be payable on a partial indemnity basis, save for the categorization of the total hours spent on general stages of the litigation. My understanding is that the amount was determined using the standard applied by superior courts in Ontario when awarding costs on a partial indemnity basis.

[3] The Appellant submits that it is appropriate for this Court to award costs in excess of the amounts set out in Schedule II, Tariff B (the "Tariff") of the *Tax Court of Canada Rules (General Procedure)*, SOR/90-688a (the "*Rules*"), due to the complexity and importance of the issues in the appeals, the amount at stake, and the failure of the Minister of National Revenue (the "Minister") to conduct a reasonable inquiry into the Appellant's final credit rating prior to trial. The Appellant is asking for a party and party costs award, to be determined on a lump sum basis, in the amount of \$1.5 million, and approximately \$3.5 million for disbursements. The Appellant states that the costs sought are less than the \$2.7 million in costs that would be payable if costs on a partial indemnity basis were awarded, and the \$7.5 million in costs that would be payable if they were awarded on the basis of the solicitor-client fees incurred by the Appellant.

[4] The Appellant relies on the Court's discretion to award costs in excess of the Tariff amounts found in subsection 147(3) of the *Rules*. More specifically, several of the factors listed in subsection 147(3) are noted by the Appellant.

[5] First, the Appellant states that it obtained all of the relief that it sought, which is true, as the appeals were allowed. The Appellant also counters an argument raised by the Respondent that the costs should be discounted because the Appellant did not succeed on its alternative arguments. Second, the Appellant notes that the amount of tax in issue was substantial — approximately \$47 million. Third, the Appellant states that this case was the Tax Court's first chance to interpret section 247 of the *Income Tax Act*, R.S.C. 1985, c. 1 (5th Supp.) (the "*ITA*"). The Appellant argues that the Court's decision will likely assist with resolving similar disputes and will also likely affect the Minister's position in respect of unrelated taxpayers, including those with litigation pending. Fourth, the Appellant notes that the issues raised were very complex and that the Court required the assistance of 12 experts from various fields. Fifth, the Appellant claims the volume of work was large, as it spent over 14,000 hours preparing its case.

[6] Additionally, the Appellant claims that there was an undue lengthening of the proceedings by the Minister. The Appellant states that a draft credit rating prepared by the Dominion Bond Rating Service was submitted to the Canada Revenue Agency (the "CRA") during the audit stage of the process. This draft credit rating assigned a stand-alone rating of B and a subsidiary rating of BBB to the Appellant. The Appellant argues that the trial could have been avoided altogether if the CRA and the Minister had conducted a reasonable investigation into the merit of the draft rating. This argument appears to be a gross overstatement by the Appellant; as the credit rating of the Appellant without the guarantee was one of the main issues in dispute, it is unlikely that the Minister would have ever conceded on this issue. The Appellant

also relies on my decision in the case of *Landry v. The Queen*, 2009 TCC 399, which was recently overturned by the Federal Court of Appeal, 2010 FCA 135.

Respondent

[7] Counsel for the Respondent concedes that an award of costs in favour of the Appellant is appropriate. The Minister asks that the amount of costs be reduced, however, as the Appellant was not successful on several legal issues of precedential significance. In the case cited in support, *GlaxoSmithKline Inc. v. Pharmascience Inc.*, 2008 FC 849, Barnes J. did take into account the fact that Pharmascience, while not ultimately successful, was successful on several key validity issues, and thus he awarded costs in the middle of Column III rather than within Column IV.² This approach does not generally appear to have support in the case law.

[8] The Respondent argues that the Appellant's seven expert witnesses were unnecessary and the costs of the motion seeking to produce eight experts should be borne by the Appellant. The Respondent also asks that some of the costs for the Appellant's experts be borne by the Appellant, as well as some of the costs incurred by the Respondent in rebutting the Appellant's numerous expert reports. In addition, the Respondent asserts that the trial took longer than 15 days because of the Appellant's numerous experts. The Respondent notes that, in the reasons for the Order dated May 7, 2009, it was stated that if the evidence turned out to be redundant and the trial was needlessly prolonged, then the Respondent could present this factor when costs were considered. The Respondent further asks that the reasonableness of the Appellant's expert witness claims be dealt with on taxation.

[9] The Respondent asserts that the discovery conducted on May 5, 2009 was necessitated by the Appellant's late disclosure of documents and asks that costs not be awarded to the Appellant for that day.

[10] The Respondent argues that its costs in relation to its two transfer pricing experts should be covered, as the Court found their testimony helpful in resolving the issues before it. No case was cited in support of this claim and there does not appear to be any case in which an unsuccessful party was compensated in such a manner for reasons similar to those put forward by the Respondent.

[11] Counsel asks that costs not be awarded in relation to Jack Mintz, an expert of the Appellant who did not testify, Mr. Scilipoti, whose testimony is not mentioned by the Court in the judgment, and several others whose testimony the Court did not

 $^{^{2}}$ At para. 4.

accept. Counsel for the Appellant points out, correctly, that no costs were requested in respect of the work of Jack Mintz.

<u>Analysis</u>

[12] According to the Federal Court of Appeal in *The Queen v. Finch*, 2003 FCA 267, it is "incumbent upon the Tax Court Judge to give the parties an opportunity to be heard on the issue of costs before making the award".³ In the instant case both parties were heard by way of written submissions and orally.

[13] Sections 147 through 152.1 of the *Rules* govern the award of costs in this appeal. According to the text *The Law of Costs*,⁴ a trial judge has absolute and unfettered discretion to award or withhold costs subject only to the applicable rules on costs.

[14] In exercising its discretion pursuant to subsection 147(3) of the *Rules* the Court may consider a number of factors.

147(3) In exercising its discretionary power pursuant to subsection (1) the Court may consider,

- (*a*) the result of the proceeding,
- (*b*) the amounts in issue,
- (c) the importance of the issues,
- (d) any offer of settlement made in writing,
- (*e*) the volume of work,
- (*f*) the complexity of the issues,

(g) the conduct of any party that tended to shorten or to lengthen unnecessarily the duration of the proceeding,

(*h*) the denial or the neglect or refusal of any party to admit anything that should have been admitted,

- (*i*) whether any stage in the proceeding was,
 - (i) improper, vexatious, or unnecessary, or
 - (ii) taken through negligence, mistake, or excessive caution,
- (j) any other matter relevant to the question of costs.

[15] In *Lau v. Canada*, 2004 FCA 10, the Federal Court of Appeal noted that the "awarding of costs under rule 147 is highly discretionary although, of course, that discretion must be exercised on a principled basis".⁵

³ At para. 6.

⁴ Mark M. Orkin, *The Law of Costs*, 2nd ed., loose-leaf (Aurora: Canada Law Book Inc., 1987) at p. 2-10 ("Orkin")

⁽consulted in August 2010).

⁵ At para. 5.

[16] It is a basic tenet of the common law that costs "follow the event".⁶ According to *Federal Income Tax Litigation in Canada*, costs generally do follow the event in most income tax appeals.⁷ At common law, costs are premised on the object of indemnification, which means that if costs have been incurred in litigating the dispute and are reasonable, then they generally ought to be recoverable by the successful party.⁸

[17] Generally, as stated by the Federal Court of Canada in *Apotex Inc. v. Wellcome Foundation Ltd.* (1998), 84 C.P.R. (3d) 303, affirmed by the Federal Court of Appeal (2001), 199 F.T.R. 320, the following principle is to be noted when awarding costs:

7 ... costs should neither be punitive nor extravagant and ... [a]n important principle underlying costs is that an award of costs represents a compromise between compensating a successful party and not unduly burdening an unsuccessful party.

[18] The Court is empowered to make a lump sum costs award under subsection 147(4) of the *Rules*.

147(4) The Court may fix all or part of the costs with or without reference to Schedule II, Tariff B and, further, it may award a lump sum in lieu of or in addition to any taxed costs.

[19] In awarding lump sum costs, Rothstein J. — speaking for the majority of the Federal Court of Appeal — noted the following in *Consorzio Del Prosciutto Di Parma v. Maple Leaf Meats Inc.*, 2002 FCA 417:

10 The Court, therefore, does have discretion to depart from the Tariff, especially where it considers an award of costs according to the Tariff to be unsatisfactory....

. . .

12 One advantage of a lump sum award of costs is the saving in costs to the parties that would otherwise be incurred in the assessment process. However, a lump sum award of costs may not be appropriate in all cases....

[20] Bowman J., as he then was, observed the following in *Continental Bank of Canada v. Canada*, [1994] T.C.J. No. 863 (QL):

⁶ G.D. Watson et al., *Civil Litigation: Cases and Materials*, 4th ed. (Toronto: Edmond Montgomery Publications, 1991) at p. 419.

⁷ A. Christina Tari, *Federal Income Tax Litigation in Canada*, loose-leaf (Markham: Butterworths, 1997), at para. 13.3 ("Tari") (consulted in August 2010).

⁸ *Ibid.*, at paras. 13.4-13.5.

9 It is obvious that the amounts provided in the tariff were never intended to compensate a litigant fully for the legal expenses incurred in prosecuting an appeal. The fact that the amounts set out in the tariff appear to be inordinately low in relation to a party's actual costs is not a reason for increasing the costs awarded beyond those provided in the tariff. I do not think it is appropriate that every time a large and complex tax case comes before this court we should exercise our discretion to increase the costs awarded to an amount that is more commensurate with what the taxpayers' lawyers are likely to charge. It must have been obvious to the members of the Rules Committee who prepared the tariff that the party and party costs recoverable are small in relation to a litigant's actual costs. Many cases that come before this court are large and complex. Tax litigation is a complex and specialized area of the law and the drafters of our Rules must be taken to have known that.

10 In the normal course the tariff is to be respected unless exceptional circumstances dictate a departure from it. Such circumstances could be misconduct by one of the parties, undue delay, inappropriate prolongation of the proceedings, unnecessary procedural wrangling, to mention only a few. None of these elements exists here.

[21] Lump sum costs were awarded by Bowman A.C.J., as he then was, in *Lau v*. *The Queen*, 2003 TCC 74, which was affirmed by the Federal Court of Appeal, 2004 FCA 10. In that case the appeals were "bumped up" from the informal procedure to the general procedure, thus causing the appellants to incur a substantial increase in costs. Further, the case against one of the appellants should not have proceeded to Court, as that appellant was not a director and the issue was director's liability. In addition, there was a settlement offer made to the Minister which Bowman A.C.J. felt should have been accepted.

[22] It is interesting to note that in *Stevens v. Canada (AG)*, 2007 FC 716, O'Keefe J. awarded costs in accordance with the Tariff as well as lump sum costs in the amount of \$20,000. Lump sum costs were awarded because the case was lengthy, a large quantity of work was done, there were issues that related to the conduct of a public inquiry that needed to be determined, and the error that caused the case to arise was not of the plaintiff's making.

[23] Counsel for the Respondent argued strenuously that I should adhere to the principle enunciated previously in some of the judgments of my current and former colleagues, namely that this Court should respect the principle that there should be no departure from the tariff, absent special circumstances justifying solicitor-client costs relating to the conduct of the parties or their counsel during the litigation.⁹ As stated

⁹ Landry, FCA, above, at para. 24.

by Bowman J., as he then was, in *McGorman et al. v. The Queen*, 99 DTC 591 (TCC):

13 I shall endeavour to set out briefly my views on how the costs should be awarded in these cases. Obviously, the court has a fairly broad discretion with respect to costs, but that discretion must be exercised on proper principles and not capriciously. For example, the mere fact that a case is novel, unique, complex or difficult, or that it involves a great deal of money is not a reason for departing from the tariff, which, generally speaking, should be respected in the absence of exceptional circumstances. I shall not repeat what I said about awarding solicitor and client costs in *Continental Bank of Canada et al. v. The Queen*, 94 DTC 1858 at page 1874.

14 Do exceptional circumstances exist here that would justify an award of solicitor and client costs? It is true the cases were important and difficult and they raised a wide variety of legal and ecclesiastical questions requiring the assistance of experts. This in itself does not warrant solicitor and client costs.

[24] First, I note that the former Chief Justice is specifically referring to an award of solicitor-client costs. The principle referred to by Bowman J. is based on the Supreme Court of Canada's decision in *Young v. Young*, [1993] 4 S.C.R. 3, where McLachlin J., as she then was, held that there must be evidence of reprehensible, scandalous or outrageous conduct before an award of costs can be made on a solicitor-client basis. In the instant case, the Appellant does not seek an award on a solicitor-client basis — which would be the case if it was claiming \$7.5 million. While the Appellant is seeking to depart from the Tariff, it is claiming party and party costs, not solicitor-client costs; the two are different cost awards, to which different considerations apply. In fact, the Appellant is claiming a lump sum of \$1.5 million, which represents approximately 20% of the solicitor-client fees it incurred and approximately 55% of the \$2.7 million of costs that would be payable if costs on a partial indemnity basis were awarded by a superior court. I agree with counsel for the Appellant that the argument made by the Respondent in this case would, for all intents and purposes, read subsections 147(3) and (4) out of the *Rules*.

[25] It is clear from the transcript of the oral submissions presented at the hearing on costs that the central argument made by counsel for the Respondent is that there must be malfeasance or misconduct before I should exercise my discretion to move away from the Tariff. This is indicated by the following excerpt from the transcript of the oral submissions:

MR. KUTYAN: ... Your Honour, our position is not that the Court does not have discretion with respect to awarding costs. That is obvious. The only issue that we have, your Honour, is that the exercise in that discretion should [not] be taken lightly and on a principle fashion. When we review a bunch of the case law, what comes to

mind would be the former Chief Justice's comment about cost, and saying essentially that in the normal course, the tariff should be respected, unless there are exceptional circumstances that gives right to depart from that. The onus is really on the Appellant to demonstrate these exceptional circumstances. It is a fairly high standard. What are the exceptional circumstances? Generally it flows from the conduct of the parties during the trial. We looked at Rule 147 and the jurisprudence to find that. I appreciate that my friend this morning indicated that they are not seeking solicitor client costs, but at the same time, your Honour, the only way for them to be successful in awarding an amount over and above the tariff amount is if they can demonstrate some sort of misconduct during the trial or from the Minister's end.

If we take a look at all the factors, at the end of the day, that is the only one that is probably going to stick out the most if they can succeed on that. The mere fact that the issue was novel, complex, or a lot of money was at stake is not sufficient to defer itself from the tariff.

JUSTICE HOGAN: On what basis do you say that? Is it simply because the Chief Justice of this Court might have said that in the judgment?

[Emphasis added.]

[26] With respect for the contrary view, I believe that the Rules Committee was well aware of the fact that there are numerous factors which can warrant a move away from the Tariff towards a different basis for an award of party and party costs, including lump sum awards. Subsection 147(3) of the *Rules* confirms this by listing specific factors and adding the catch-all paragraph (j), which refers to "any other matter relevant to the question of costs". If misconduct or malfeasance was the only case in which the Court could move away from the Tariff, subsection 147(3) would be redundant. Words found in legislation are not generally considered redundant. As stated by the Supreme Court in *Hills v. Canada* (*AG*), [1988] 1 S.C.R. 513:

106 ... In reading a statute it must be "assumed that each term, each sentence and each paragraph have been deliberately drafted with a specific result in mind. Parliament chooses its words carefully: it does not speak gratuitously" (P.-A. Côté, *The Interpretation of Legislation in Canada*, (1984), at p. 210).¹⁰

[27] It has been repeatedly affirmed that McLachlin J.'s comment requiring misconduct or malfeasance in *Young v. Young*, above, was specifically and only made in reference to the availability of solicitor-client costs. It is true that "[t]he general rule is that a successful litigant is entitled to party and party costs," in accordance with the Tariff.¹¹ It is also true that a measure of reprehensibility is required for either party to be ordered to pay costs to the other party on a

¹⁰ P.-A. Côté's text has been cited by the Supreme Court alone nearly a hundred times.

¹¹ Merchant v. Canada, [1998] 3 C.T.C. 2505 (TCC), at para. 58, Bowman J., as he then was; see also Zeller Estate v. *The Queen*, 2009 TCC 135, at paras. 7-12.

solicitor-client basis. The two rules must not be conflated, as to do so would remove all middle ground.

[28] The *Interpretation Act* applies to the *ITA* and to this Court's *Rules*.¹² Section 12 of the *Interpretation Act* provides that every enactment "is deemed remedial, and shall be given such fair, large and liberal construction and interpretation as best ensures the attainment of its objects". It is reasonable to conclude that the purpose of section 147 of the *Rules* was to give a judge the discretion to move away from the Tariff in order to provide fair and reasonable relief in the circumstances — with or without reference to Schedule II, Tariff B. A restrictive interpretation of that section that would require a taxpayer to meet the same burden in order to move from the Tariff to any level of partial indemnity or to a lump sum award in lieu of or in addition to any costs as it would have to meet to obtain solicitor-client costs would defeat at least one of the purposes of the section.

[29] The principal policy argument reiterated by counsel for the Respondent for basing the costs award on the Tariff is the spectre that if the courts were to grant considerable lump sum awards it might dissuade parties from exercising their statutory right of appeal. This may be true in some cases, but it does not appear to have played a role in the case at bar. Both parties had experienced senior counsel representing them and assumed the considerable costs of hiring experts. One policy argument cannot be made to fit all cases, particularly those in a complex field such as transfer pricing in the context of pricing financial services, including guarantees.

[30] I note that only three of the factors listed in subsection 147(3) of the *Rules* deal with the conduct of the parties;¹³ the other six factors deal specifically with the circumstances of the case. Five out of those six factors apply to the instant case, namely: the result of the proceeding, the amount at issues, the importance of the issue, the volume of work, and the complexity of the issues.

[31] With respect to the result of the proceeding, the Appellant obtained all that it sought in the case. There is a strong tendency in the case law to accept the principle that costs awards should not be distributive, with the amounts being based on the outcome of particular arguments.¹⁴ As noted by Bowman J., as he then was, in *RMM Canadian Enterprises Inc. v. The Queen*:

¹² R.S.C. 1985, c. I-21, s. 3.

¹³ Those are 147(3)(g), (*h*) and (*j*).

¹⁴ *RMM Canadian Enterprises Inc. v. The Queen*, [1997] T.C.J. No. 445 (QL), 97 DTC 420 (TCC); *Armak Chemicals Ltd. v. Canadian National Railway Co.*, [1991] O.J. No. 1535 (QL), (1991), 5 O.R. (3d) 1 at paras. 17-19 (CA); *Pearson v. Inco Ltd.* (2006), 79 O.R. (3d) 427 at para. 5 (CA), where Rosenberg J.A. stated, "this court has made it clear that distributive costs awards are to be avoided"; *Shelanu Inc. v. Print Three Franchising Corporation* (2006), 269 D.L.R. (4th) 152 at para. 6 (Ont. CA), citing *Armak* and *Pearson* for the principle that "a distributive costs award is to be avoided"; *Greater Moncton International Airport Authority v. Public Service Alliance of Canada*, 2009 FCA 72 at para.

Page: 10

5 ... It frequently happens in litigation that arguments are advanced in support of positions that, with the benefit of hindsight, turn out to have been unnecessary. Unless such arguments are plainly frivolous or untenable, I do not think that a litigant should be penalized in costs simply because its counsel decides to pull out all the stops, nor do I think that it is my place to second guess counsel's judgment, after the event, and say, in effect, "If you had had the prescience to realize how I was going to decide we could have saved a lot of time by confining the case to one issue." Moreover, one of counsel's responsibilities is to build a record which will enable an appellate court to consider all of the issues.

[Emphasis added.]

[32] The amount of tax at issue, without considering interest and penalties, exceeded \$47 million. With respect to the importance of the issue, this case is the first application of the transfer pricing rule found in section 247 of the ITA. Since the decision in the case has been issued, numerous articles and commentaries have been published in Canada,¹⁵ and the case has been the object of commentary in the United Kingdom,¹⁶ the United States,¹⁷ and Sweden,¹⁸ to name of few of the foreign jurisdictions where it has been considered. This high level of foreign interest is likely tied to the fact that, as I understand, this is the first transfer pricing case on guarantee fees in the world, and the rules in many foreign jurisdictions are similar to those found in Canada.

[33] I expect that when this case (which is under appeal) is finally determined, important legal principles underlying the application of section 247 to financial services will be settled.

[34] On the subject of the complexity of the issues, this appeal raised numerous and extremely complex issues that required the Court to consider the evidence of experts in different specialized fields, including experts in credit default swaps — a form of guarantee available to public bond holders — insurance, credit rating methodologies, and bond pricing analysis, as well as economists specialized in transfer pricing. The experts' reports in chief and rebuttals were voluminous and, in many cases, were

^{7,} where Stinson, Assessment Officer, stated "[a]n award of costs is not distributive"; AlliedSignal Inc. v. DuPont Canada Inc. (1998), 81 C.P.R. (3d) 110 (FCTD).

 ¹⁵ Murray Clayson, "GE Verdict Will Set International Precedent", online: (February 2010) Int'l. Tax Rev. <u>http://www.freshfields.com/publications/pdfs/2010/Feb10/MJC ITR article.pdf</u>.
 ¹⁶ Kim Brooks, "General Electric Capital Canada Inc. v. The Queen: even straightforward facts confound transfer

pricing law", Case Comment on 2009 TCC 563, [2010] Brit. Tax Rev., No. 2, p. 132.

¹⁷ Georges Hirsch, Transfer Pricing Meeting Minutes, "ABA Section of Taxation, May Meeting in Washington, D.C., May 6-8, 2010" (May 7, 2010, 15:30-17:30) online:

http://meetings.abanet.org/webupload/commupload/TX357000/sitesofinterest_files/2010_May_Session_D.C. Mintes_T P Session.pdf.

¹⁸ BNA Tax and Accounting Center, ABA Panelist Debate, 90 DTR G-9, "Best Approach For Implicit Support in Pricing Guarantee" (May 12, 2010).

Page: 11

based on complex financial and economic methodologies. The Respondent incurred approximately \$3,361,688 in costs for its experts. There were many legal issues on which there is no precedent in the case law and that were instead addressed by the combined work of counsel and the experts. In particular, the parties presented lengthy argument on whether section 247 required the Court to situate the parties opposite each other. The Appellant argued that only those economic characteristics of the transaction which were not distorted by the related party dealings needed to be considered. If the Court had accepted this approach it would not have had to deal with the impact of implicit support in its analysis of the arm's length price for the guarantee arrangement. Obviously, the parties had no way of knowing how this issue would be finally dealt with.

[35] In the end, I decided that the rules do not require the Court to situate the parties opposite each other. I decided that what must be done is to price the transaction entered into by the parties in the way that it would have been priced by arm's length parties, taking care to consider all of the relevant economic characteristics of the transaction in order to ensure comparability. Because the outcome on this issue was uncertain at the time of the hearing, the parties were left to prepare on the basis that implicit support might or might not be considered. As a result, many of the experts were required to conduct a dual analysis.

[36] The lengthy submissions, expert reports, transcripts, and judgment are available to the public, which means that future litigants in this field will have a much simpler time dealing with this issue. I do not believe that the high level of complexity that characterized this case will be found in many of the cases that will be considered by this Court in the future, and, from a strict policy perspective, this case will be of limited precedential value to those who invoke deterrence as an argument against departure from the Tariff.

[37] After careful consideration, all of the above factors lead me to believe that the Appellant is entitled to a lump sum cost award with respect to counsel fees. However, I do not believe it is entitled to the full amount of \$1.5 million that it has claimed. The literature on the billing practices of law firms rightfully points out that billing on a purely hourly basis does not always provide proper incentive to lawyers to act efficiently and productively in their performance of a mandate. If anything, the model can encourage the opposite behaviour, as an increase in the total number of hours spent on a file leads to an increase in revenue. Perversely, efficiency is rewarded by lower gross billings. There is much talk in the literature about the need for lawyers and their clients to agree on billing structures that align billing with the value to, or the results for, the client, but few are able to agree on a definition of value.

[38] One issue that has been specifically noted is the concern that clients are asked to pay for law firms' duplication of efforts. While much of the debate surrounding billing models remains academic, the courts have accepted the anti-duplication principle and have acted to limit costs where duplication is present. For example, see *Wotherspoon v. Canadian Pacific Ltd.*¹⁹

[39] At trial I emphasized how well counsel for both parties presented their case at the hearing. However, on the basis of the supporting calculations provided by the Appellant in justifying its claim of \$1.5 million, I note that 77 lawyers working for the Appellant spent time on the file. In many cases, it was only a few hours. I cannot help but believe that there may have been some duplication, at least in explaining the facts of the case to each lawyer that was called upon to provide some work or insight. The billing rates on which the claim for a partial indemnity are based are high, which would signify that the work was performed by the senior members of the teams, who should have been able to deal with most issues quickly; that is generally why they charge higher rates. In light of these facts, I have determined a lump sum amount of \$1,130,593. I arrived at that figure by taking into account only the hours of those who spent a meaningful amount of time working on the file. I have eliminated the time of all lawyers who spent less than 1,000 hours working on the file. This eliminates approximately 4,000 hours from a total of approximately 14,000. My detailed calculations are set out in Annex A2.

Disbursements – Experts

[40] Subsection 1(2) of the Tariff provides for the reimbursement of "all disbursements made under Tariff A of this Schedule and all other disbursements essential for the conduct of the proceeding".

[41] It is generally accepted that expert fees are to be reimbursed as a disbursement, with certain notable exceptions. Expert fees can be reduced where an expert does not testify.²⁰ Further, expert fees can be reduced where they are not reasonable.

¹⁹ [1988] O.J. No. 1827 (QL):

^{...} Obviously, when more than one solicitor is involved in preparation, there is bound to be some element of duplication which should be disallowed, but the extent of such disallowance will depend on the individual circumstances of every case.

See also McMillan Binch v. 1009768 Ontario Ltd., [1995] O.J. No. 4868 (QL):

⁸ There is no doubt from the evidence that the solicitor dealt with the issues in a responsible manner but at excessive costs to the client. After reviewing all the evidence in this matter, it is my view that too many people worked on this file with an excessive amount of time spent internally resulting in very little independent action on the part of the individual professionals.

²⁰ Orkin, note 4 above, at §1109.8. See also Tari, note 7 above, at para. 13.82.

In Federal Income Tax Litigation in Canada, the following is stated with [42] respect to expert fees as disbursements:

13.82 ... Expert fees may be recovered as a disbursement where the expert opinion is determined to be reasonable and necessary for the conduct of the appeal and is relied upon by the decision of the Court.²¹

[Emphasis added.]

[43] In order to determine what amount is reasonable with respect to expert fees, the Court is entitled to look at the preparation time required and the relationship between the opinion of the expert and the ultimate award.²²

[44] In Stribbell v. Bhalla, [1990] O.J. No. 999 (QL), the trial judge reduced the amount of the costs awarded for an expert report where the report was so "structurally and conceptually flawed and so unnecessarily lengthy that a substantial reduction [was] necessary".²³

Hughes J.'s comments in Eli Lilly Canada Inc. v. Novopharm Ltd., [45] 2007 FC 708, with regard to disbursements for expert fees, are worth repeating:

10 As to fees charged by such experts they should be reasonable and be the lesser of actual fees charged or the rate that was charged by [the litigant's] senior counsel for services for the same period of time as spent by the experts. Expert rates should not get out of hand. Disbursements must be reasonable and not extravagant.

[46] This view, that experts' rates should not exceed those of senior counsel, was reiterated by Barnes J. in *GlaxoSmithKline*, above; however, he went further, stating that any time spent by experts in "preparing [the client's] counsel to examine [the other side's] expert witnesses or in attending the examination of any other witness shall not be recoverable".²⁴

Counsel for the Respondent argues that all disbursements for experts should be [47] dealt with by me on the basis of principles only; by doing so, the Respondent is left with the right to question the disbursements when the bill is presented for consideration by the taxing officer in the context of the principles or guidelines that I will have set out for him. I do not share the Respondent's view with respect to the work of Cole and Partners and CRA International. I will outline specific principles to be applied to the costs of those experts because I view their bills to be extremely high

²¹ Tari, note 7 above.

²² *Ibid.*, at para. 13.83.
²³ At para. 5.

²⁴ At para. 6.

in the context of both the case as a whole and the work performed by the other experts.

[48] In the case of CRA International, the costs submitted for taxation totalled approximately \$2,088,351. The work lasted from May 2008 to June 2009, as shown in Annex B1, and at least 36 individuals worked on the file at various times, ranging from vice-presidents to senior principals to associates to analysts. Mark Fidelman, the person accepted as a witness, charged US\$655 per hour, a very high rate for his services, and billed a total of 678.25 hours. An expert's billing rate should be reflective of his experience and his ability to complete his assignment efficiently. I believe there was a lot of learning going on at CRA International — on the part of Mr. Fidelman and his colleagues — in developing and applying the methodology outlined in their report. I cannot help but believe that the Appellant was being charged for their "education". William Chambers, the expert on the Standard & Poor's rating methodology, tendered a bill that appears small in comparison to that of CRA International. His task was, in my opinion, equally complex. I believe the difference is that he was a true expert at the beginning of the process, whereas the personnel of CRA International appear to have honed their qualifications throughout the duration of their assignment. Learning the field should not be charged to the client. With this in mind, as a guideline specific to the cost of CRA International's services, the amount allowed on taxation shall be equal to the cumulative time of Mr. Fidelman, the time of the associate with the greatest involvement in the case in a given period, and the time of an analyst. This works out to an amount of \$788,993.04 as a recoverable disbursement for the costs in respect of time only incurred by the Appellant for the work of CRA International, all as calculated in Annex B2 to this Order. Disbursements will be subject to assessment by the taxing officer.

[49] The same comments can be made in respect of the work of Cole and Partners, with the caveat that the work they did was of significantly lesser complexity than that of CRA International. For a large part, the Cole and Partners report relies on the work of the other experts for building a price grid reflective of arm's length negotiations. The concept of "arm's length" bargaining is well known to the courts. Once again, I note from the billing that 13 individuals worked on the file, with many of their time entries being for research, preparation, internal meetings, or the review of the other experts' reports. For this reason, the Appellant should be able to recover only the charge for the time of Stephen Cole, identified by the initials SRC, which works out to \$344,900 in respect of time charges only, all as shown in Annex C2 to this Order.²⁵ Disbursements shall be subject to assessment by the taxing officer.

 $^{^{25}}$ When organized by activity pursued, the subtotals for each individual's time entries are telling. For example, Stephen Cole spent almost the same amount of time reading or studying other experts' reports as he did writing his own, billing a total of 76.00 and 85.50 hours respectively for the two. It should be kept in mind that neither of those totals includes the

Page: 15

[50] The Respondent argues that it should be entitled to recover the disbursements incurred with respect to two of its transfer pricing experts because their testimony helped me to arrive at my decision. Additionally, the Respondent submits that the Appellant should not be allowed to recover its disbursements with respect to those experts whose advice was not followed by me or mentioned in my reasons for judgment. As noted earlier, costs and disbursements should not be distributive, with amounts being determined on the basis of results achieved with respect to specific arguments. Moreover, while I did find the testimony and reports of certain of the Appellant's experts to be more useful than others, I cannot conclude that the work product (for which disbursements are claimed) of any of the Appellant's other experts was duplicative or redundant. In the absence of precedent, the Appellant had no way of knowing in advance how the legal issues in dispute in this case would be resolved. It had to be prepared to deal with all possible outcomes.

[51] There is no justification for excluding from the taxation process the disbursements claimed for the Appellant's other experts. The taxing officer will retain his complete discretion over the taxation of all disbursements, except with regard to matters specifically dealt with herein.

Signed at Ottawa, Canada, this 15th day of October 2010.

"Robert J. Hogan" Hogan J.

time Mr. Cole spent planning (49.50 hours), summarizing (16.00 hours), and reviewing (30.00 hours) Cole and Partners reports. Moreover, of the approximately 450 hours billed by Mr. Cole, more than 100 were spent in meetings, with approximately half of those meetings being internal.

	Individual(s)	Period	Partial Indemnity	Partial Indemnity	Lump Sun
		Worked	Rate**	Total	Total
A. Pleadings	S. Borsic-Drummond	24.60	\$225.00	\$5,535.00	\$2,991.09
	A. Meghji	10.40	\$300.00	\$3,120.00	\$1,686.04
	M. MacDonald	8.40	\$140.00	\$1,176.00	\$635.51
	N. Paris	4.20	\$160.00	\$672.00	\$363.15
	H. Ferrigan	3,40	\$140.00	\$476.00	\$257.23
	B. Murray	1.40	\$350.00	\$490.00	\$264.79
	A. Eisenberg	0.60	\$60.00	\$36.00	\$19.45
A 41.14	J. Steiner	0.50	\$350.00	\$175.00	\$94.57
Subtotal	8	53.50	a <u></u>	\$11,680.00	\$6,311.83
B. Discovery of	S. Borsic Drummond	626.00	\$225.00	\$140,850.00	\$76,114.84
Documents	M. MacDonald	541.00	\$140.00	\$75,740.00	\$40,929.63
	D. Leschinsky	310.10	\$160.00	\$49,616.00	\$26,812.31
	H. Chien	124.20	\$30.00	\$3,726.00	\$2,013.52
	L. Neudorf	89.40	\$60.00	\$5,364.00	\$2,898.69
	C. Carss	76.00	\$60.00	\$4,560.00	\$2,464.21
	M. Nixon	71.50	\$150.00	\$10,695.00	\$5,779.54
	P. Ng	62.60	\$60.00	\$3,756.00	\$2,029.73
	J. Barsky	62.00	\$150.00	\$9,300.00	\$5,025.69
	D. Forrest	53.60	\$60.00	\$3,216.00	\$1,737.91
	A. Meghji	49.00	\$300.00	\$14,700.00	\$7,943.83
	T. Mandel	43.20	\$60.00	\$2,592.00	\$1,400.71
	M. Krishna	40.20	\$60.00	\$2,412.00	\$1,303.44
	1. Brown	36.00	\$60.00	\$2,160.00	\$1,167.26
	S. Akhari	35.50	\$60.00	\$2,130.00	\$1,151.04
	B. Wiley	33.60	\$60.00	\$2,016.00	\$1,089.44
	J. Williams	33.00	\$60.00	\$1,980.00	\$1,069.98
	P. Repetto	32.40	\$60.00	\$1,944.00	\$1,050.53
	N. Paris	30.00	\$160.00	\$4,800.00	\$2,593.90
	A. Syed	29.90	\$30.00	\$897.00	\$484.74
	J. Petrillo	27.80	\$60.00	\$1,668.00	\$901.38
	K. Kuzma	23.60	\$60.00	\$1,416.00	\$765.20
	H. Ferrigan	21.70	\$140.00	\$3,038.00	\$1,641.72
	D. Ault	6.40	\$60.00	\$384.00	\$207.51
	A. Gatti	3.20	\$60.00	\$192.00	\$103.76
	B. Warden	0.70	\$130.00	\$91.00	\$49.18
	B. Muerav	0.60	\$350.00	\$210.00	\$113,48
Subrotal	27	2463.00	- Annuality	\$349,453.00	\$188,843.10
17197-122A					
C. General	M. MacDonald	424.00	\$140.00	\$59,360.00	\$32,077.93
Preparation	S. Borsic-Drummond	299.80	\$225.00	\$67,455.00	\$36,452.44
	A. Meghji	269.00	\$300.00	\$80,700.00	\$43,609.99
	D. Leschinsky	165.40	\$160.00	\$26,464.00	\$14,301.05
	N. Paris	163.20	\$160.00	\$26,112.00	\$14,110.83
	B. Murray	157.80	\$350.00	\$55,230.00	\$29,846.10
	J. Steiner	79.70	\$350.00	\$27,895.00	\$15,074.36
	M. Nixon	64,60	\$150.00	\$9,690.00	\$5,236.44
	M. Krishna	58.50	\$60.00	\$3,510.00	\$1,896.79
	S. Wooles	52.30	\$120.00	\$6,276.00	\$3,391.53
	E. Smith	34.10	\$60.00	\$2,046.00	\$1,105.65
	D. Forrest	28.80	\$60.00	\$1,728.00	\$933.81
	D. Gaskell	20.40	\$60.00	\$1,224.00	\$661.45
	P. Repetto	15.30	\$60.00	\$918.00	\$496.08

Annex A1 - Claimed Osler Account

	Individual(s)	Period Worked	Partial Indemnity Rate**	Partial Indemnity Total	Lump Sun Total
	C. Caru	10.40	\$60.00	\$624.00	\$337.21
	G. Hunnisett	8.50	\$60.00	\$510.00	\$275.60
	E. Thomas	8.30	\$120.00	\$996.00	\$538.23
	H. Ferrigan	6.70	\$140.00	\$938.00	\$506.89
	J. Williams	6.60	\$60.00	\$396.00	\$214.00
	L. Neudorf	5.30	\$60.00	\$318.00	\$171.85
	B. Wiley	5.30	\$60.00	\$318.00	\$171.85
	M. Davis	4.60	\$60.00	\$276.00	\$149.15
	M. Fischer	3.60	\$60.00	\$216.00	\$116.73
	K. Mintz	2.90	\$150.00	\$435.00	\$235.07
	J. Barsky	2.60	\$150.00	\$390.00	\$210.75
	S. Wilkie	0.90	\$350.00	\$315.00	\$170.22
	E. Putnam	0.80	\$120.00	\$96.00	\$51.88
	T. Wiggins	0.40	\$30.00	\$12.00	\$6.48
	J. Dolman	0.30	\$285.00	\$85.50	
	I. MacGregor	0.30	\$350.00		\$46.20
	H. Chien			\$105.00	\$56.74
	P. Samtani	0.10	\$30.00	\$3.00	\$1.62
Subtotal	32	0.10 1900.60	\$130.00	\$13.00 \$374,654.50	\$7.03
The second s	Chezan and	1300,00	÷	23/4/034000	\$202,401.90
D. Examinations for	N. Paris	999.40	\$160.00	\$159,904.00	\$86,411.55
Discovery	M. MacDonald	737.40	\$140.00	\$103,236.00	\$55,788.37
	A. Meghji	474.30	\$300.00	\$142,290.00	\$76,893.01
	S. Borsic-Drummond	357.10	\$225.00	\$80,347.50	\$43,419.50
	M. Krishna	189.50	\$60.00	\$11,370.00	\$6,144.31
	J. Fairfax	150.40	\$160.00	\$24,064.00	\$13,004.10
	M. Fischer	82.70	\$60.00	\$4,962.00	\$2,681.45
	A. Syed	48.80	\$30.00	\$1,464.00	\$791.14
	B. Murray	41.60	\$350.00	\$14,560.00	\$7,868.17
	A. Richards	34.30	\$130.00	\$4,459.00	\$2,409.63
	D. Leschinsky	18.30	\$160.00	\$2,928.00	\$1,582.28
	E. Pumam	15.80	\$120.00	\$1,896.00	\$1,024.59
	R. Fellows	15.40	\$60.00	\$924.00	\$499.33
	J. Steiner	13.90	\$350.00	\$4,865.00	\$2,629.03
	S. Akbari	13.80	\$60.00	\$828.00	\$447.45
	H. Ferrigan	9.80	\$140.00	\$1,372.00	\$741.42
	N. Said	9.30	\$60.00	\$558.00	\$301.54
			2003 CD PC2		
	A. Eisenberg	8,40	\$60.00	\$504.00	\$272.36
	H. Chien C. Carsu	5.50	\$30.00	\$165.00	\$89.17
		4.90	\$60.00	\$294.00	\$158.88
	B. Leith	4.60	\$60.00	\$276.00	\$149.15
	G. Henderson	4.40	\$130.00	\$572.00	\$309.11
	M. Jamal	3.00	\$250.00	\$750.00	\$405.30
	L. Weagle	2.30	\$120.00	\$276.00	\$149.15
	T. Wiggins	2.00	\$30.00	\$60.00	\$32.42
1000000	P. McMahon	1.10	\$150.00	\$165.00	\$89,17
Subtotal	26	3248.00		\$563,089.50	\$304,291.50
E. Respondent's	N. Paris	188.80	\$160.00	\$30,208.00	\$16,324.30
Motion (for	J. Steiner	33.20	\$350.00	\$11,620.00	\$6,279.41
production)	M. MacDonald	23.90	\$140.00	\$3,346.00	\$1,808.17
to contract of	B. Murray	8.50	\$350.00	\$2,975.00	\$1,607.68
	A. Meghji	5.80	\$300.00		
		2.70		\$1,740.00	\$940.29
P.A.M.	K. Hogue		\$50.00	\$135.00	\$72.95
Subtotal	6	262.90		\$50,024.00	\$27,032.79

Annex A1 - Claimed Osler Account

	Individual(s)	Period Worked	Partial Indemnity Rate**	Partial Indemnity Total	Lump Sun Total
F. Trial Preparation	M. MacDonald	1172.60	\$140.00	\$164,164.00	\$88,713.64
	N. Paris	1168.10	\$160.00	\$186,896.00	\$100,997.93
	A. Meghji	895.80	\$300.00	\$268,740.00	\$145,226.14
	J. Steiner	753.80	\$350.00	\$263,830.00	\$142,572.75
	P. McMahon	576.60	\$150.00	\$86,490.00	\$46,738.89
	B. Murray	431.20	\$350.00	\$150,920.00	\$81,556.63
	B. Beswick	302.60	\$110.00	\$33,286.00	\$17,987.64
	P. Samtani	109.60	\$130.00	\$14,248.00	\$7,699.57
	A. Gersh	74.90	\$60.00	\$4,494.00	\$2,428.54
	S. Wilkie	65.70	\$350.00	\$22,995.00	\$12,426.42
	G. Hunnisett	50,70	\$60,00	\$3,042.00	\$1,643.89
	L. Nevsky	36.40	\$60.00	\$2,184.00	\$1,180.23
	A. Brown	17.50	\$350.00	\$6,125.00	\$3,309.93
	J. Code	16.60	\$240.00	\$3,984.00	\$2,152.94
	S. Kanabar	13.90	\$60.00	\$834.00	\$450.69
	P. Riesterer	13.10	\$60.00	\$786.00	\$424.75
	S. Fujarczuk	12.20	\$90.00	\$1,098.00	\$593.36
	M. Doris	11.20	\$60.00	\$672.00	\$363.15
	C. Gossage	7.50	\$60.00	\$450.00	\$243.18
	H. Ferrigan	2.80	\$210.00	\$588.00	\$317.75
	A. Heale	2.50	\$140.00	\$350.00	\$189.14
	K. Jennings	2.50	\$60.00	\$150.00	\$81.06
	V. Hansford	1.80	\$60.00	\$108.00	\$58.36
	P. Lapa	1.80	\$60,00	\$108.00	\$58.36
	I. Marin	1.60	\$60.00	\$96.00	\$51.88
	M. Mandarello	1.50	\$60.00	\$90.00	\$48.64
	C. Carst	1.20	\$60.00	\$72.00	3161510
	M. Hart	1.00	202010-00.00010	\$260.00	\$38.91
	P. Welsh		\$260,00		\$140.50
		0.90	\$60.00	\$54.00	\$29.18
	H. Tilak	0.80	\$320.00	\$256.00	\$138.34
	P. Graves	0.70	\$60.00	\$42.00	\$22.70
122	D. Tetreault	0.30	\$350.00	\$105.00	\$56.74
Subtotal	32	5749.40	S	\$1,217,517.00	\$657,941.83
G. Joint Hearing	N. Paris	11.00	\$160.00	\$1,760.00	\$951.10
Application	M. MacDonald	0.40	\$140.00	\$56.00	\$30.26
COME/08/197/09/1	J. Steiner	0.40	\$350.00	\$140.00	\$75.66
Subtotal	3	11.80		\$1,956.00	\$1,057.02
	NO SALER STATE				
I. Motions	N. Paris	61.60	\$160.00	\$9,856.00	\$5,326.15
(Discovery Qs;	J. Steiner	30.40	\$350.00	\$10,640.00	\$5,749.82
Production of Docs)	M. MacDonald	10.40	\$140.00	\$1,456.00	\$786.82
	B. Murray	7.70	\$350.00	\$2,695.00	\$1,456.37
	A. Meghji	4.70	\$300.00	\$1,410.00	\$761.96
	B. Donnelly	3.00	\$60.00	\$180.00	\$97.27
Subtotal	6	117.80		\$26,237.00	\$14,178.38
. Motions (Leave to	N. Paris	82.60	\$160.00	\$13,216.00	\$7,141.88
Adduce Addt'nl	A. Meghji	15.20	\$300.00	\$4,560.00	\$2,464.21
Experts)	G. Hunnisett	12.00	\$60.00	\$720.00	\$389.09
231322533260	J. Steiner	9.90	\$350.00	\$3,465.00	\$1,872.47
	M. MacDonald	7.00	\$140.00	\$980.00	\$529.59
	M. Doris	6.00	\$60.00	\$360.00	\$194.54
	B. Murray	4.00	\$350.00	\$1,400.00	\$756.56
Subtotal	7	136.70		\$24,701.00	\$13,348.33
CARDINICAL		1.10.10		Burt, 101,00	212,240.33

	Individual(s)	Period Worked	Partial Indemnity Rate**	Partial Indemnity Total	Lump Sum Total
K. Trial (20 days)	M. MacDonald	110.00	\$140.00	\$15,400.00	\$8,322.11
THE REAL PROPERTY AND	A. Meghji	110.00	\$300.00	\$33,000.00	\$17,833.08
	J. Steiner	110.00	\$350.00	\$38,500.00	\$20,805.26
	N. Paris	99.00	\$160.00	\$15,840.00	\$8,559.88
	B. Murray	88.00	\$350.00	\$30,800.00	\$16,644.21
	P. McMahon	11.00	\$150.00	\$1,650.00	\$891.65
Subtotal	6	528.00		\$135,190.00	\$73,056.19
L. Conference Call	A. Meghji	1.50	\$300.00	\$450.00	\$243.18
L.	J. Steiner	1.10	\$350.00	\$385.00	\$208.05
	N. Paris	0.40	\$160.00	\$64.00	\$34.59
Subtotal	3	3.00		\$899.00	\$485.82
M. Judgment	M. MacDonald	6.40	\$140.00	\$896.00	\$484.20
1990.000.000.000.000	J. Steiner	5.90	\$350.00	\$2,065.00	\$1,115.92
	B. Murray	4.60	\$350.00	\$1,610.00	\$870.04
Subtotal	3	16.90		\$4,571.00	\$2,470.15
N. Costs	A. Miller	54.20	\$80.00	\$4,336.00	\$2,343.16
Submissions	L Matthews	25.80	\$110.00	\$2,838.00	\$1,533.65
	N. Paris	22,40	\$160,00	\$3,584.00	\$1,936.78
	M. MacDonald	13.90	\$140.00	\$1,946.00	\$1,051.61
	J. Steiner	8.60	\$350.00	\$3,010.00	\$1,626.59
1.1	K. Jennings	0.90	\$60.00	\$54.00	\$29.18
Subtotal	6	125.80	12 2000-000	\$15,768.00	\$8,520.97
Totals		14617.40	8	\$2,775,740.00	\$1,500,000.0

*While the Appellant is seeking to depart from the Tariff, the \$1.5 million lump sum award requested is only a partial indemnity in the amount of approximately 20% of the solicitor-client fees it incurred, and only approximately 54% of the \$2.7 million of costs that would be payable if costs on a partial indemnity basis were awarded.

** The following fees are the hourly rates utilized by the Appellant in its calculation of the amount that would be claimed were costs awarded on a partial indemnity scale. In other words, these rates are significantly discounted from the hourly rates charged to the Appellant.

Consolidated Totals						
	Number of Lawyers	Total Hours	Total Cost	Average # of Hours	Average Cost	Lump Sum Tota
A. Pleadings	8	53.50	\$11,680,00	6.69	\$1,460.00	\$6,311.83
B. Discovery of Documents	27	2463.00	\$349,453.00	91.22	\$12,942.70	\$188,843.16
C. General Preparation	32	1900.60	\$374,654.50	59.39	\$11,707.95	\$202,461.96
D. Examinations for Discovery	26	3248.00	\$563,089.50	124.92	\$21,657.29	\$304,291.56
E. Respondent's Motion (for production)	6	262.90	\$50,024.00	43.82	\$8,337.33	\$27,032.79
F. Trial Preparation	32	5749.40	\$1,217,517.00	179.67	\$38,047.41	\$657,941.85
G. Joint Hearing Application *missing H.	3	11.80	\$1,956.00	1.93	\$652.00	\$1,057.02
L Motions (Discovery Qs; Production of Docs)	6	117.80	\$26,237.00	19.65	\$4,372.83	\$14,178.38
J. Motions (Leave to Adduce Addr'nl Experts)	7	136.70	\$24,701.00	19.53	\$3,528.71	\$13,348.33
K. Trial (20 days)	6	528.00	\$135,190.00	88.00	\$22,531.67	\$73,056.19
L. Conference Call	3	3.00	\$899.00	1.00	\$299.67	\$485.82
M. Judgment	3	16.90	\$4,571.00	5.63	\$1,523.67	\$2,470.15
N. Costs Submissions	6	125.80	\$15,768.00	20.97	\$2,628.00	\$8,520.97
Totals:		14617.40	\$2,775,740.00			\$1,500,000.00
Averages (per part):	12.69			51.11	\$9,976.09	

Individual	Participated in 'x' Parts of Case (out of 15)	Total Hours	Rate**	Total Cost	Average Hours per Part	Average Cost per Part	Lump Sum Tota
M. MacDonald	12	3055.40	\$140.00	\$427,756.00	254.62	\$35,646.33	\$231,157.82
N. Paris	12	2830.70	\$160.00	\$452,912.00	235.89	\$37,742.67	\$244,752.03
A. Meghji	10	1835.70	\$300.00	\$550,710.00	183.57	\$55,071.00	\$297,601.72
S. Borsic-Drammond	4	1307.50	\$225.00	\$294,187.50	326.88	\$73,546.88	\$158,977.88
J. Steiner	12	1047.40	\$350.00	\$366,590.00	87.28	\$30,549.17	\$198,103.93
B. Murray	10	745.40	\$350.00	\$260,890.00	74.54	\$26,089.00	\$140,984.03
P. McMahon	3	588.70	\$150.00	\$88,305.00	196.23	\$29,435.00	\$47,719.71
D. Leschinsky	3	493.80	\$160.00	\$79,008.00	164:60	\$26,336.00	\$42,695.64
B. Beswick	1	302.60	\$110.00	\$33,286.00	302.60	\$33,286.00	\$17,987.64
M. Krishna	3	288.20	\$60.00	\$17,292.00	96.07	\$5,764.00	\$9,344.54
J. Fairfax	1	150.40	\$160.00	\$24,064.00	150.40	\$24,064.00	\$13,004.10
M. Nixon	2	135.90	\$150.00	\$20,385.00	67.95	\$10,192.50	\$11,015.98
H. Chien	3	129.80	\$30.00	\$3,894.00	43.27	\$1,298.00	\$2,104.30
P. Samtani	2	109.70	\$130.00	\$14,261.00	54.85	\$7,130.50	\$7,706.59
L. Neudorf	2	94.70	\$60.00	\$5,682.00	47.35	\$2,841.00	\$3,070.53
C. Carss	-4	92.50	\$60.00	\$5,550.00	23.13	\$1,387.50	\$2,999.20
M. Fischer	2	86.30	\$60.00	\$5,178.00	43.15	\$2,589.00	\$2,798.17
D. Forrest	2	82.40	\$60.00	\$4,944.00	41.20	\$2,472.00	\$2,671.72
A. Synd	2	78,70	\$30.00	\$2,361.00	39.35	\$1,180.50	\$1,275.88
A. Geesh	1	74.90	\$60.00	\$4,494.00	74.90	\$4,494.00	\$2,428.54
G. Hunnisett	3	71.20	\$60.00	\$4,272.00	23.73	\$1,424.00	\$2,308.57
S. Wilkie	2	66,60	\$350.00	\$23,310.00	33.30	\$11,655.00	\$12,596.64
J. Bartky	2	64.60	\$150.00	\$9,690.00	32.30	\$4,845.00	\$5,236.44
P. Ng	1	62.60	\$60.00	\$3,756.00	62.60	\$3,756.00	\$2,029.73
A. Miller	1	54.20	\$80.00	\$4,336.00	54.20	\$4,336.00	\$2,343.16
S. Wooles	1	52.30	\$120.00	\$6,276.00	52.30	\$6,276.00	\$3,391.53
S. Akbari	2	49.30	\$60.00	\$2,958.00	24.65	\$1,479.00	\$1,598.49

Annex AT - Claimed Osler Account

Page 5 of 6

Totals: 77	2	14617.40	\$123.38	\$2,775,740.00	43.22	\$6,433.33	\$1,500,000.0
]. Dolman	1	0.30	\$285.00	\$85.50	0.30	\$85.50	\$46.20
L MacGregor	1	0.30	\$350.00	\$105.00	0.30	\$105.00	\$56.74
D. Tetreault	1	0.30	\$350.00	\$105.00	0.30	\$105.00	\$56.74
P. Graves	1	0.70	\$60.00	\$42.00	0.70	\$42.00	\$22.70
B, Warden	1	0.70	\$130.00	\$91,00	0.70	\$91.00	\$49.18
II. Tilak	1	0.80	\$320.00	\$256.00	0.80	\$256.00	\$138.34
P. Welsh	1	0.90	\$60.00	\$54.00	0.90	\$54.00	\$29.18
M. Hart	1	1.00	\$260.00	\$260.00	1.00	\$260.00	\$140.50
M. Mandarello	1	1.50	\$60.00	\$90.00	1.50	\$90.00	\$48.64
. Marin	1	1.60	\$60.00	\$96.00	1.60	\$96.00	\$51.88
V. Hansford	1	1.80	\$60.00	\$108.00	1.80	\$108.00	\$58.36
P. Lupa	1	1.80	\$60.00	\$108.00	1.80	\$108.00	\$58.36
Weagle	1	2.30	\$120.00	\$276.00	2.30	\$276.00	\$149.15
r. Wiggins	2	2.40	\$30.00	\$72,00	1.20	\$36.00	\$38.91
A. Henic	1	2.50	\$140.00	\$350.00	2.50	\$350.00	\$189.14
K. Hogue	1	2.70	\$50.00	\$135.00	2.70	\$135.00	\$72.95
K. Mintz	1	2.90	\$150.00	\$435.00	2.90	\$435.00	\$235.07
M. Jamal	1	3.00	\$250.00	\$750.00	3,00	\$750.00	\$405.30
8. Donnelly	1	3.00	\$60.00	\$180.00	3.00	\$180.00	\$97.27
A. Gatti	1	3.20	\$60.00	\$192.00	3.20	\$192.00	\$105.76
C Jennings	2	3,40	\$60.00	\$204.00	1.70	\$102.00	\$110.24
Henderson	1	4.40	\$130.00	\$572.00	4.40	\$572.00	\$309.11
M. Davis	1	4.60	\$60.00	\$276.00	4.60	\$276.00	\$149.15
Leith	1	4.60	\$60.00	\$276.00	4.60	\$276.00	\$149.15
D. Ault	1	6,40	\$60.00	\$384.00	6.40	\$384.00	\$207.51
C. Gossage	1	7.50	\$60.00	\$450.00	7.50	\$450.00	\$243,18
5. Thomas	1	8.30	\$120.00	\$996.00	8.30	\$996.00	\$538.23
A. Eisenberg	2	9.00	\$60.00	\$540.00	4.50	\$270.00	\$291,81
S. Said	1	9.30	\$60.00	\$558.00	9.30	\$558.00	\$301.54
8 Fujaeczuk	1	12,20	\$90.00	\$1,098.00	12.20	\$1,098.00	\$593.36
P. Riesterer	1	13.10	\$60.00	\$786.00	13.10	\$786.00	\$424.75
5. Kanabar	L.	13.90	\$60.00	\$834.00	13.90	\$834.00	\$450.69
L Fellows		15.40	\$60.00	\$924.00	15.40	\$924.00	\$499.33
. Code	1	16.60	\$240.00	\$3,984.00	16.60	\$3,984.00	\$2,152.94
E. Putnam	2	16.60	\$120.00	\$1,992.00	8.50	\$996.00	\$1,076.47
M. Dons	2	17.20	\$60.00	\$1,032.00	8.60	\$516.00	\$557.69
A. Brown	1	17.50	\$350.00	\$6,125.00	17.50	\$6,125.00	\$3,309.93
D. Gasicell	1	20.40	\$60.00	\$1,224.00	20.40	\$1,224.00	\$661.45
K. Kuzma	1	23.60	\$60.00	\$1,416.00	23.60	\$1,416.00	\$765.20
. Matthews	1	25.80	\$110.00	\$2,838.00	25.80	\$2,838.00	\$1,533.65
. Petnilo	1	27.80	\$60.00	\$1,668.00	27.80	\$1,668.00	\$901.38
E. Smith	1	34.10	\$60,00	\$2,046.00	34.10	\$2,046.00	\$1,105.65
A. Richards	1	34.30	\$130.00	\$4,459.00	34.50	\$4,459.00	\$2,409.63
Brown	1	36.00	\$60.00	\$2,160.00	36.00	\$2,160.00	\$1,167.26
L. Nevsky	1	36.40	\$60.00	\$2,184.00	36.40	\$2,184.00	\$1,180.23
B. Wiley	2	38.90	\$60.00	\$2,334.00	19.45	\$1,167.00	\$1,261.29
. Williama	2	39.60	\$60,00	\$2,376.00	19.80	\$1,188.00	\$1,283,98
	4	41.60	\$140.00				
H. Ferrigan	1	2.80	\$210.00	\$6,412.00	2.75	\$3,206.00	\$3,465.02
I'. Mandel	1	43.20	\$60.00	\$2,592.00	43.20	\$2,592.00	\$1,400.71
I'. Mandel	2	47.70 43.20	\$60.00 \$60.00	\$2,862.00 \$2,592.00	23.85 43.20	\$1,431.00 \$2,592.00	\$1,546.61

Annex A1 - Claimed Osler Account

Page 6 of 6

Individual Totals							
Individual	Participated in 'x' Parts of Case (out of 13)	Total Hours	Rate	Total Cost	Average Hours per Part	Average Cost per Part	Lump Sum Total
M. MacDonald	12	3055.40	\$140.00	\$427,756.00	254.62	\$35,646.33	\$231,157.82
N. Paris	12	2830.70	\$160.00	\$452,912.00	235.89	\$37,742.67	\$244,752.03
A. Meghji	10	1835.70	\$300.00	\$550,710.00	183.57	\$55,071.00	\$297,601.72
S. Borsic Drummond	4	1307.50	\$225.00	\$294,187.50	326.88	\$73,546.88	\$158,977.88
J. Steiner	12	1047.40	\$350.00	\$366,590.00	87.28	\$30,549.17	\$198,103.93
Totals: 5	Contract Contract	10076.70	0100101017	\$2,092,155.50	10000		\$1,130,593.37
Averages (per lawyer):	10		\$235.00		217.65	\$46,511.21	

 This amount was determined by multiplying the total cost by the same percentage used to determine the Appellant's initial request for costs of \$1.5 million.

	Individual	Seniority Level		Period Worked	Rate*	Subtotal
May 1-31, 2008	Mark Bronson	Vice President		2.00	\$575.00	\$1,150.00
Invoice #059202	Mark Fidelman	Vice President		5.75	\$655.00	\$3,766.25
	Katherine Sullivan	Principal		20.75	\$425.00	\$8,818.75
	Maureen Caulfield	Consultant		16.50	\$450.00	\$7,425.00
	Ariel Krinshpun	Associate		1.50	\$235.00	\$352.50
	John McGraw	Associate		75.00	\$235.00	\$17,625.0
	Brian Bonaviri	Associate		58.00	\$235.00	\$13,630.0
	Christopher Filiberto	Analyst		29.75	\$220.00	\$6,545.00
		2.000.000			an manager	\$59,312.5
une 1-30, 2008	*Not submitted to the Court	п				
uly 1-31, 2008	Mark Fidelman	Vice President		22.50	\$655.00	\$14,737.5
nvoice #060815	Katherine Sullivan	Principal		22.00	\$425.00	\$9,350.00
indice including	Elabd Toam	Senior Associate		32.50	\$275.00	\$8,937.50
	Cheryl Lau	Associate		0.10	\$235.00	\$23.50
	John McGraw	Associate		77.00	\$235.00	\$18,095.0
	Christopher Filiberto	Analyst		37.00	\$220.00	\$8,140.00
	Cindy Chan	Senior Associate		45.00	\$185.00	\$8,325.00
	Matthew Abern	Analyst		4.75	\$110.00	\$522.50
	Yevgeny Shrago	Analyst		3.30	\$110.00	\$363.00
	a collection of the second sec	- cristiyee		34.342	4110000	\$68,494.0
Vugust 1-31, 2008	Greg Ballentine	Vice President		8.00	\$835.00	\$6,680.00
nvoice #061466	Mark Fidelman	Vice President		29.50	\$655.00	\$19,322.5
	Masareen Caufield	Consultant		4.00	\$450,00	\$1,800.00
	Katherine Sullivan 'Associate'	Principal		18.25	\$425.00	\$7,756.23
	Anna Lam	Senior Associate	1.75			
	Elahd Toam	Senior Associate	-44			
	Cindy Chan	Senior Associate	20.5			
	Ariel Krinshpun	Associate	2.75			
	Cheryl Lau	Associate	1			
	John McGraw	Associate	30			
	'Analyst'			100.00	\$244.36	\$24,436.2
	Christopher Filiberto	Analyst	6.25			
	William Pulito	Analyst	4			
	Rachel Tibolt	Analyst	10.45			
	inclusion and in the second		10.10	20.70	\$220.00	\$4,554.00
						404,142.0
September 1-30, 2008	Greg Ballentine	Vice President		26.00	\$835.00	\$21,710.0
nvoice #062215	Mark Fidelman	Vice President		26.00	\$655.00	\$17,030.0
	Katherine Sullivan	Principal		26.50	\$425.00	\$11,262.5

Annex B1 - Claimed CRA International Account

Page 1 of 6

	Individual	Seniority Level		Period Worked	Rate*	Subtotal
	'Associate'	23	sines:			
	Elahd Toam	Senior Associate	36.75			
	Ariel Krinshpun	Associate	2			
	Cheryl Lau	Associate	- 9			
	John McGraw	Associate	94			
	30 300			141.75	\$245.37	\$34,781.25
	'Analyst'					
	Christopher Filiberto	Analyst	67.5			
	Rachel Tibolt	Analyst	34.2	1000	1000	127-12-12
				101.70	\$220.00	\$22,374.00
						\$107,157.7
October 1-31, 2008	Greg Ballentine	Vice President		8.00	\$835.00	\$6,680.00
Invoice #062783	Mark Fidelman	Vice President		32.00	\$655.00	\$20,960.00
	Mark Fidelman	Vice President		40.50	\$655.00	\$26,527.50
	Mark Meyer	Vice President		2.00	\$500.00	\$1,000.00
	Kabir Dutta	Principal		3.00	\$480.00	\$1,440.00
	Kenneth Swenson	Principal		2.00	\$480.00	\$960.00
	Nelly Korsum	Associate Principal		28.00	\$425.00	\$11,900.00
	Katherine Sullivan	Principal		44.00	\$425.00	\$18,700.00
	'Associate'	1444 C 005 #042 C 0			1400000000	2010/00/00101
	Anna Lam	Senior Associate	2.75			
	Elahd Toam	Senior Associate	5			
	Elahd Toam	Senior Associate	50.5			
	John McGraw	Consulting Associate	27.5			
	John McGraw	Consulting Associate	7			
	Christopher Filiberto	Associate	49.5			
	Christopher Filiberto	Analyst	68.5			
	Christopher Filiberto	Analyst	10			
	Ariel Krinshpun	Associate	7			
	Ariel Krinshpun	Associate	22.75			
	John McGraw	Associate	2			
	Cheryl Lau	Associate	6.5			
	20012012			259,00	\$237.38	\$61,481.25
	'Analyst' Rachel Tibolt	6	10.55			
	Kachel Libolt	Analyst	12.53	12.53	\$220.00	\$2,756.60
	'Support'			12.55	3220100	\$2,750.00
	Douglas Southard	Support	1.4			
	Locagas coumara	serblesee	1.4	1.40	\$200.00	\$280.00
						\$152,685.35
2 Proven Constant Constant	00-14-102010-00000-000					
November 1-30, 2008	Greg / David Babel	Vice President		1.00	\$685.00	\$685.00
Invoice #063430	Mark Fidelman	Vice President		13.50	\$655.00	\$8,842.50
	Miguel Herce	Principal		3.00	\$520,00	\$1,560.00
	Joseph P. Paster	Senior Consultant		4,00	\$500.00	\$2,000.00
	Michael Rich	Senior Consultant		4.75	\$500,00	\$2,375.00
	Kabir Dutta	Principal		1.00	\$480.00	\$480.00
	Maureen Caulfield	Consultant		29.25	\$450.00	\$13,162.50
	Nelly Korsum	Associate Principal		23.00	\$425.00	\$9,775.00

Annex B1 - Claimed CRA International Account

Page 2 of 6

	Individual	Seniority Level		Period Worked	Rate*	Subtotal
	'Associate' Anna Lam Elahd Toam Christopher Filiberto	Senior Associate Senior Associate Associate	0.75 66.5 67.75			
	Anel Krinshpun	Associate	45,75	180.75	\$244.57	\$44,206.2
					0	\$00,000 a.
December 1-31, 2008	Mark Fidelman	Vice President		1.00	\$655.00	\$655.00
Invoice #064829	Nelly Korsum	Associate Principal		22.00	\$425,00	\$9,350.00
	Elahd Toam	Senior Associate		65.50	\$350.00	\$22,925.0
	Christopher Filiberto	Associate		82.00	\$250.00	\$20,500.0
	Ariel Krinshpun	Associate		40.50	\$240.00	\$9,720.00
	Cheryl Lau	Associate		22.75	\$250.00	\$5,687.50
	Adam Breitman	Analyst		4,00	\$220.00	\$880.00
					1	\$69,717.5
anuary 1-31, 2009	Mark Fidelman	Consultant		56.00	\$655.00	\$36,680.0
Invoice #064831	Nelly Korsum	Associate Principal		30.50	\$425.00	\$12,962.5
	Anna Lam	Senior Associate		35.00	\$375.00	\$13,125.0
	Elahd Toam	Senior Associate		72.75	\$350.00	\$25,462.5
	Christopher Filiberto	Associate		38.50	\$250.00	\$9,625.00
	Ariel Krinshpun	Associate		67.50	\$240.00	\$16,200.0
	Cheryl Lau	Associate		9.50	\$250.00	\$2,375.00
	Adam Breitman	Analyst		4.00	\$220.00	\$880.00
					and the second	\$117,310.0
February 1-28, 2009	Mark Fidelman	Consultant		55.00	\$655.00	\$36,025.0
Invoice #065824	Nelly Korsum	Associate Principal		20.00	\$425.00	\$8,500.00
	Anna Lam	Senior Associate		65.75	\$375.00	\$24,656.2
	Elabd Toam	Senior Associate		69.75	\$350.00	\$24,412.50
	Christopher Filiberto	Associate		31.25	\$250.00	\$7,812.50
	Ariel Krinshpun	Associate		103.50	\$240.00	\$24,840.00
	Cheryl Lau	Associate		34.50	\$250.00	\$8,625.00
	Adam Breitman	Analyst		1.75	\$220.00	\$385.00
		5				\$135,256.2
March 1-31, 2009	Mark Fidelman	Consultant		105.50	\$655.00	\$69,102.50
Invoice #065825	John Brown	Vice President		128.50	\$645.00	\$82,882.5
	Maureen Caulfield	Consultant		7.75	\$450.00	\$3,487.50
	Nelly Korsum	Associate Principal		7.00	\$425.00	\$2,975.00
	Anna Lam	Senior Associate		95.00	\$375.00	\$35,625.00
	Elahd Team	Senior Associate		48.25	\$350.00	\$16,887.50
	Christopher Filiberto	Associate		58.00	\$250,00	\$14,500.00
	Katherine Freund	Associate		13.50	\$250.00	\$3,375.00
	Ariel Krinshpun	Associate		93.75	\$240.00	\$22,500.00
	Cheryl Lau	Associate		80.25	\$250.00	\$20,062.50
	Adam Breitman	Analyst		0.25	\$220.00	\$55.00
	Douglas Southard	Support		1.20	\$214.00	\$256.80
		0022010504			1925060	\$271,709.3

Annex B1 - Claimed CRA International Account

Page 3 of 6

	Individual	Seniority Level	Period Worked	Rate*	Subtotal
April 1-30, 2009	Mark Fidelman	Consultant	114.00	\$655.00	\$74,670.00
Invoice #066432	John Brown	Vice President	55.00	\$645.00	\$35,475.00
	Maureen Caulfield	Consultant	1.00	\$450.00	\$450.00
	Samita Sareen	Associate Principal	22.25	\$440.00	\$9,790.00
	Anna Lam	Senior Associate	156.50	\$375.00	\$58,687.50
	Elahd Toam	Senior Associate	107.00	\$350.00	\$37,450.00
	Christopher Filiberto	Associate	116.75	\$250.00	\$29,187.50
	Katherine Freund	Associate	2.25	\$250.00	\$562.50
	Ariel Krinshpun	Associate	122.50	\$240.00	\$29,400.00
	Cheryl Lau	Associate	149.25	\$250.00	\$37,312.50
	Adam Breitman	Analyst	4.75	\$220.00	\$1,045.00
		1000/000		0.000	\$314,030.0
May 1-31, 2009	Mark Fidelman	Consultant	119.00	\$655.00	\$77,945.00
Invoice #067260	Maureen Caulfield	Consultant	28.25	\$450.00	\$12,712.50
	Anna Lam	Senior Associate	23.00	\$375.00	\$8,625.00
	Elabd Toam	Senior Associate	10.25	\$350.00	\$3,587.50
	Nicole Bodner	Associate	3.50	\$230.00	\$805.00
	Christopher Filiberto	Associate	82.00	\$250.00	\$20,500.00
	Ariel Krinshpun	Associate	41.25	\$240.00	\$9,900.00
	Cheryl Lau	Associate	7.50	\$250.00	\$1,875.00
	Abby Haritos	Analyst	0.50	\$120.00	\$60.00
	1.1	1.5		- 52	\$136,010.0
				*Discount	-\$35,000.0
					\$101,010.0
June 1-19, 2009	Mark Fidelman	Consultant	38.50	\$655.00	\$25,217.50
Invoice #067284	Anna Lam	Senior Associate	10.50	\$375.00	\$3,937.50
	Elahd Toam	Senior Associate	5.25	\$350.00	\$1,837.50
	Ariel Krinshpun	Associate	17.50	\$240.00	\$4,200.00
	1.33				\$35,192.50
June 20-30, 2009	Mark Fidelman	Consultant	19.50	\$655.00	\$12,772.50
Invoice #068498					\$12,772.50

* The highlighted cells contain estimated rates. Exact rates could not be ascertained as the associates were pooled.

Annex B1 - Claimed CRA International Account-

	Hours	Labour Totals	Disbursements	Invoice Total	Exchange Rate	CAD Total
Invoice #059202	209.25	\$59,312.50	\$6,790.36	\$66,102.86	1.0178	\$67,279.49
Invoice #060815	244.15	\$68,494.00	\$13,497.65	\$81,991.65	1.0271	\$84,213.62
Invoice #061466	180.45	\$64,549.00	\$5,974.16	\$70,523.16	1.0706	\$75,502.10
Invoice #062215	321.95	\$107,157.75	\$13,241.74	\$120,399.49	1.1808	\$142,167.72
Invoice #062783	432.43	\$152,685.35	\$19,542.44	\$172,227.79	1.2374	\$213,114.67
Invoice #063430	260.25	\$83,086.25	\$10,677.20	\$93,763.45	1.2596	\$118,104.44
Invoice #064829	237.75	\$69,717.50	\$7,734.02	\$77,451.52	1.2513	\$96,915.09
Invoice #064831	313.75	\$117,310.00	\$10,280.20	\$127,590.20	1.2513	\$159,653.62
Invoice #065824	381.50	\$135,256.25	\$12,457.97	\$147,714.22	1.2193	\$180,107.95
Invoice #065825	638.95	\$271,709.30	\$22,377.15	\$294,086.45	1.2193	\$358,579.61
Invoice #066432	851.25	\$314,030.00	\$28,460.82	\$342,490.82	1.1759	\$402,734.96
Invoice #067260	315.25	\$136,010.00	\$13,058.38	\$149,068.38	1.1542	\$172,054.72
Invoice #067284	71.75	\$35,192.50	\$2,429.76	\$37,622.26	1.1630	\$43,754.69
Invoice #068498	19.50	\$12,772.50	\$701.97	\$13,474.47	1.0810	\$14,565.90
Raw Total	4478,18	\$1,627,282.90	\$167,223.82	\$1,794,506.72		\$2,128,748.58
Discounts	2000 lost	LTDR DW LTD DW	- The Second	-\$35,000.00	1.1542	-\$40,397.00
Final Total	4478.18	\$1,627,282.90	\$167,223.82	\$1,759,506.72		\$2,088,351.58

Individual	Seniority Level	Period Worked	Rate*	Subtotal
Mark Fidelman	Vice President	678.25	\$655.00	\$444,253.75
Elahd Toam	Senior Associate	614.00	\$350.00	\$214,900.00
Anna Lam	Senior Associate	391.00	\$375.00	\$146,625.00
Christopher Filiberto	Associate	525.75	\$250,00	\$131,437.50
John Brown	Vice President	183.50	\$645.00	\$118,357.50
Ariel Krinshpun	Associate	486.50	\$240,00	\$116,760.00
Cheryl Lau	Associate	303,75	\$250,00	\$75,937.50
John McGraw	Associate -	278.00	\$235.00	\$65,330.00
Katherine Sullivan	Principal	131.50	\$425.00	\$55,887.50
Nelly Kotsum	Associate Principal	130.50	\$425.00	\$55,462.50
Christopher Filiherto	Analyst	219.00	\$229,00	\$48,180.00
Maureen Caufield	Consultant	86.75	\$450.00	\$39,037.50
Greg Ballentine	Vice President	42.00	\$835.00	\$35,070.00
Ariel Krinshpan	Associate	81.75	\$235.00	\$19,211.25
Brian Bonaviri	Associate	58.00	\$235.00	\$13,630.00
Rachel Tibolt	Analyst	57.18	\$220.00	\$12,579.60
Cindy Chan	Senior Associate	65.50	\$185.00	\$12,117.50
Samita Sareen	Associate Principal	22.25	\$440.00	\$9,790.00
John McGraw	Consulting Associate	34.50	\$235.00	\$8,107.50
Katherine Freund	Associate	15.75	\$250.00	\$3,937.50
Cheryl Lau	Associate	16.60	\$235.00	\$3,901.00
Adam Breitman	Analyst	14.75	\$220.00	\$3,245.00
Michael Rich	Senior Consultant	4.75	\$500.00	\$2,375.00
Joseph P. Paster	Senice Consultant	4,00	\$500,00	\$2,000.00
Kabir Dutta	Principal	4.00	\$480.00	\$1,920.00
Miguel Herce	Principal	3.00	\$520.00	\$1,560.00
Mark Bronson	Vice President	2.00	\$575.00	\$1,150.00
Mark Meyer	Vice President	2.00	\$500.00	\$1,000.00
Kenneth Swenson	Principal	2.00	\$480.00	\$960.00
William Pulito	Analyst	4.00	\$220.00	\$880.00
Nicole Bodner	Associate	3.50	\$230.00	\$805.00
Greg / David Babel	Vice President	1.00	\$685.00	\$685.00
Douglas Southard	Support	2.60	\$214.00	\$556.40
Matthew Ahern	Analyst	4.75	\$110.00	\$522.50
Yevgeny Shrago	Analyst	3.30	\$110.00	\$363.00
Abby Haritos	Analyst	0.50	\$120.00	\$60.00
Totals		4478,18		\$1,648,595.00

* The highlighted cells contain estimated rates. Exact rates could not be ascertained as the associates were pooled.

Annes B1 - Claimed CRA International Account

Page 6 of 6

Invoice #059203 John McGraw Christopher Filiberto Associate Analyst 75.00 \$235.00 \$17,63 June 1-30, 2008 *Not submitted to the Court * \$6,64 \$27,73 \$220.00 \$6,54 July 1-31, 2008 *Not submitted to the Court * \$655.00 \$14,73 July 1-31, 2008 Mark Fidelman Vice President 22,50 \$655.00 \$14,73 Invoice #060815 John McGraw Associate 70.00 \$225.00 \$14,07 Invoice #061466 Mark Fidelman Vice President 29,50 \$655.00 \$14,73 Invoice #061466 Mark Fidelman Vice President 26,00 \$252,00 \$7,05 Invoice #062215 Mark Fidelman Vice President 26,00 \$655.00 \$14,73 Invoice #062215 John McGraw Associate 94,00 \$225.00 \$14,89 Invoice #062215 Mark Fidelman Vice President 7.50 \$220.00 \$14,89 Invoice #062783 Mark Fidelman Vice President 3.50 \$45,44		Individual	Seniority Level	Period Worked	Rate	Subtotal
Christopher Filiberto Analyst 29.75 \$220.00 \$6,54 July 1-31, 2008 *Not submitted to the Court * * \$45,54 July 1-31, 2008 Mark Fidelman Vice President 22,50 \$655.00 \$14,73 Invoice #060815 Mark Fidelman Vice President 29,55 \$10,00 \$235.00 \$18,00 August 1-31, 2008 Mark Fidelman Vice President 29,50 \$655.00 \$19,33 Invoice #061466 Mark Fidelman Vice President 29,50 \$655.00 \$17,03 September 1-30, 2008 Mark Fidelman Vice President 26,00 \$655.00 \$22,00 Invoice #06215 John McGraw Associate 26,00 \$655.00 \$22,00 September 1-30, 2008 Mark Fidelman Vice President 72,50 \$655.00 \$22,00 Invoice #062783 John McGraw Associate 72,50 \$655.00 \$47,48 Invoice #064300 Mark Fidelman Vice President 72,50 \$655.00 \$8,84 Invoice	May 1-31, 2008	Mark Fidelman	Vice President	5.75	\$655.00	\$3,766.25
june 1-30, 2008 *Not submitted to the Court (uly 1-31, 2008 Mark Fidelman Vice President 22.50 \$655.00 \$14,73 (uly 1-31, 2008 Mark Fidelman Vice President 22.50 \$655.00 \$14,73 (uly 1-31, 2008 Mark Fidelman Vice President 29.50 \$655.00 \$14,73 (unvoice #061466 John McGraw Associate 30.00 \$235.00 \$1,703 (unvoice #061466 John McGraw Associate 30.00 \$235.00 \$1,703 (unvoice #061466 Mark Fidelman Vice President 26.00 \$655.00 \$1,703 (unvoice #061466 Mark Fidelman Vice President 26.00 \$655.00 \$1,703 (unvoice #062215 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 (unvoice #062783 John McGraw Associate 36.50 \$235.00 \$8,77 (unvoice #063430 Mark Fidelman Vice President 72.50 \$655.00 \$8,47 (unvoice #064829 Mark Fidelman Vice Pr	Invoice #059202	John McGraw	Associate	75.00	\$235.00	\$17,625.00
tune 1-30, 2008 *Not submitted to the Court (uly 1-31, 2008 Mark Fidelman Vice President 22.50 \$655.00 \$14,73 (uly 1-31, 2008 Mark Fidelman Associate 77.00 \$2235.00 \$14,73 (unoice #060815 Mark Fidelman Analyst 4.75 \$110.00 \$522 (unoice #061466 John McGraw Associate 30.00 \$235.00 \$19,33 (unoice #061466 John McGraw Associate 30.00 \$235.00 \$17,03 (unoice #061466 John McGraw Associate 30.00 \$235.00 \$17,03 (unoice #061466 John McGraw Associate 30.00 \$235.00 \$17,03 (unoice #062215 Mark Fidelman Vice President 26.00 \$220,00 \$14,83 (unoice #062215 John McGraw Associate 36.50 \$220,00 \$14,85 (unoice #062783 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 (unoice #063430 Mark Fidelman Vice President 31.50 <td></td> <td>Christopher Filiberto</td> <td>Analyst</td> <td>29.75</td> <td>\$220.00</td> <td>\$6,545.00</td>		Christopher Filiberto	Analyst	29.75	\$220.00	\$6,545.00
July 1-31, 2008 Mark Fidelman Vice President 22.50 \$655.00 \$14,73 Invoice #060815 John McGraw Associate 77.00 \$235.00 \$18,07 Matthew Abern Analyst 4.75 \$110.00 \$523 August 1-31, 2008 Mark Fidelman Vice President 29.50 \$655.00 \$19,33 Invoice #061466 John McGraw Associate 30.00 \$235.00 \$1,37 September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 Invoice #062215 Mark Fidelman Vice President 26.00 \$655.00 \$22,00 Christopher Filiberto Analyst 67.50 \$220.00 \$14,83 Invoice #062215 John McGraw Associate 36.50 \$235.00 \$24,93 Christopher Filiberto Analyst 67.50 \$220.00 \$14,83 Invoice #062783 Mark Fidelman Vice President 7.50 \$655.00 \$47,48 Invoice #064829 Mark Fidelman Vice President					1.5	\$27,936.25
Invoice #060815 John McGraw Matthew Ahern Associate Analyst 77.00 \$235.00 \$18,09 August 1-31, 2008 Invoice #061466 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 29.50 \$655.00 \$19,33 September 1-30, 2008 Invoice #062215 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 26.00 \$655.00 \$17,03 September 1-30, 2008 Invoice #062215 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 26.00 \$655.00 \$17,03 October 1-31, 2008 Invoice #062783 Mark Fidelman John McGraw Rachel Tibolt Vice President Associate 72.50 \$655.00 \$47,48 November 1-30, 2008 Invoice #063430 Mark Fidelman Christopher Filiberto Xice President Associate 13.50 \$655.00 \$43,50 Sovember 1-31, 2008 Invoice #064829 Mark Fidelman Christopher Filiberto Vice President Associate 13.50 \$655.00 \$8,84 Oecember 1-31, 2008 Invoice #064829 Mark Fidelman Christopher Filiberto Associate 82.00 \$22.000 \$22.57,92 December 1-31, 2008 Invoice #064829 Mark Fidelman Christopher Filiberto Associate	une 1-30, 2008	*Not submitted to the Co	urt.			
Invoice #060815 John McGraw Matthew Ahern Associate Analyst 77.00 \$235.00 \$18,09 Nagust 1-31, 2008 Invoice #061466 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 29.50 \$655.00 \$19,33 September 1-30, 2008 Invoice #062215 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 26.00 \$655.00 \$17,03 September 1-31, 2008 Invoice #062215 Mark Fidelman John McGraw Christopher Filiberto Vice President Analyst 26.00 \$655.00 \$17,03 October 1-31, 2008 Invoice #062783 Mark Fidelman John McGraw Associate Vice President Associate 72.50 \$655.00 \$47,48 November 1-30, 2008 Invoice #063430 Mark Fidelman Christopher Filiberto Vice President Associate 73.50 \$220.00 \$27.5 September 1-31, 2008 Invoice #064829 Mark Fidelman Christopher Filiberto Vice President Associate 13.50 \$655.00 \$8,84 (52,57,82 December 1-31, 2008 Invoice #064829 Mark Fidelman Christopher Filiberto Associate \$20.00 \$38,00 (\$22,00) \$22,000 222,009 Mark Fidelman Christopher Filiberto Associate \$4.00	uly 1-31, 2008	Mark Fidelman	Vice President	22.50	\$655.00	\$14,737.50
Matthew Ahern Analyst 4.75 \$110.00 \$522 August 1-31, 2008 Mark Fidelman Vice President 29.50 \$655.00 \$19,33 invoice #061466 John McGraw Associate 30.00 \$235.00 \$7,05 keptember 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$11,37 ovoice #062215 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 October 1-31, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$14,85 nvoice #062783 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 nvoice #06330 Mark Fidelman Vice President 72.50 \$655.00 \$8,87 Sovember 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,88 nvoice #062783 Mark Fidelman Vice President 13.50 \$655.00 \$8,89 November 1-30, 2008 Mark Fidelman Vice President 10.00 \$250.00 \$215.75 Sovemb						\$18,095.00
Nagust 1-31, 2008 Mark Fidelman Vice President 29.50 \$655.00 \$19,33 invoice #061466 John McGraw Associate 30.00 \$235.00 \$17,05 Christopher Filiberro Analyst 6.25 \$220.00 \$17,05 September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$11,73 invoice #062215 Mark Fidelman Vice President 26.00 \$655.00 \$14,85 october 1-31, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$14,85 nvoice #062783 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 nvoice #063430 Mark Fidelman Vice President 72.50 \$655.00 \$8,77 Systember 1-30, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$8,77 Notice #063430 Mark Fidelman Vice President 72.50 \$55.00 \$8,84 nvoice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$220.00 \$220.00		Here and the second sec			1	\$522.50
Invoice #061466 John McGraw Associate 30.00 \$235.00 \$7,05 Christopher Filiberto Analyst 6.25 \$220.00 \$11,37 \$237,74 September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,05 September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,05 John McGraw Associate 94,00 \$235.00 \$22,00 \$242,00 Christopher Filiberto Analyst 67.50 \$220.00 \$14,85 \$\$53,97 October 1-31, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 Invoice #062783 John McGraw Associate 36.50 \$235,00 \$8,57 November 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,88 Invoice #06430 Mark Fidelman Vice President 1.00 \$655.00 \$23,57 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$23,57				0356201	-	\$33,355.00
Invoice #061466 John McGraw Associate 30.00 \$235.00 \$7,05 Christopher Filiberto Analyst 6.25 \$220.00 $\frac{$11,37}{$$27,74}$ September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 John McGraw Associate 94,00 \$235.00 \$22,00 \$24,85 Invoice #062215 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 mvoice #062783 Mark Fidelman Vice President 72.53 \$220.00 \$23,50 November 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$47,48 nvoice #063430 Mark Fidelman Vice President 13.50 \$655.00 \$23,57 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$23,57 Novice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$23,57	\ugust I-31, 2008	Mark Fidelman	Vice President	29.50	\$655.00	\$19,322.50
September 1-30, 2008 Mark Fidelman Vice President 26.00 \$655.00 \$17,03 nvoice #062215 John McGraw Associate 94.00 \$235.00 \$22,00 \$14,85 October 1-31, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 nvoice #062783 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 nvoice #062783 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 sworice #063783 Mark Fidelman Vice President 72.53 \$220.00 \$23,75 Sworember 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 nvoice #063430 Christopher Filiberto Associate 1.00 \$655.00 \$22,00 Secember 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$250,00 nvoice #064829 Mark Fidelman Vice President 1.00 \$250.00 \$22,00 anuary 1-31, 2009 Mark Fidelman Associate 82.00 \$250.00<	nvoice #061466	John McGraw	Associate	30.00	\$235.00	\$7,050.00
September 1-30, 2008 invoice #062215 Mark Fidelman John McGraw Vice President Associate 26.00 \$655.00 \$17,03 Christopher Filiberto Analyst 67.50 \$220.00 \$14,85 October 1-31, 2008 Mark Fidelman John McGraw Vice President 72.50 \$655.00 \$47,48 nvoice #062783 Mark Fidelman John McGraw Associate 36.50 \$235.00 \$8,57 Rachel Tibolt Analyst 12.53 \$220.00 \$238,82 Sovermber 1-30, 2008 Mark Fidelman (Christopher Filiberto Associate 36.50 \$235.00 \$8,87 Novice #063430 Mark Fidelman (Christopher Filiberto Vice President 13.50 \$655.00 \$46,93 December 1-31, 2008 Mark Fidelman (Christopher Filiberto Associate 82.00 \$250.00 \$250.00 \$220.00 </td <td></td> <td>Christopher Filiberto</td> <td>Analyst</td> <td>6.25</td> <td>\$220.00</td> <td>\$1,375.00</td>		Christopher Filiberto	Analyst	6.25	\$220.00	\$1,375.00
Invoice #062215 John McGraw Christopher Filiberto Associate Analyst 94.00 \$235.00 \$22,00 \$22,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$14,85 \$53,97 \$20,00 \$22,00 \$24,74 \$85,57 \$85,80 \$85,97 \$85,80 \$85,97 \$85,83 \$22,000 \$22,75 \$58,80 \$20,00 \$22,75 \$58,80 \$20,00 \$22,75 \$58,80 \$20,00 \$22,57 \$58,80 \$20,00 \$22,57 \$58,80 \$20,00 \$22,57 \$55,00 \$25,000 \$22,57 \$55,00 \$25,000 \$22,57 \$55,00 \$25,000 \$22,000 \$22,57 \$250,000 \$22,000 \$22,57 \$250,000 \$22,000 \$22,57 \$250,000 \$22,000 \$22,000 \$22,000					-	\$27,747.50
Christopher Filiberto Analyst 67.50 \$220.00 \$14,85 October 1.31, 2008 Mark Fidelman Vice President 72.50 \$655.00 \$47,48 nvoice #062783 John McGraw Associate 36.50 \$235.00 \$85,57 Rachel Tibolt Analyst 12.53 \$220.00 \$25,76 November 1.30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 nvoice #063430 Mark Fidelman Vice President 1.00 \$655.00 \$16,93 December 1.31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$220,50 nvoice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$220,50 Analyst 4.00 \$220.00 \$25,78 \$250.00 \$220,50 nvoice #064829 Mark Fidelman Consultant 56.00 \$250.00 \$220,00 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$36,60 nvoice #064831 Mark Fidelman Consultant 4		Mark Fidelman		26.00	\$655.00	\$17,030.00
Detober 1-31, 2008 nvoice #062783 Mark Fidelman John McGraw Vice President 72.50 \$655.00 \$47,48 John McGraw Associate 36.50 \$235.00 \$8,57 Rachel Tibolt Analyst 12.53 \$220.00 \$22,75 Sowernber 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 nvoice #063430 Mark Fidelman Vice President 1.00 \$655.00 \$22,75 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$25,78 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$20,50 Novice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$20,50 Adam Breitman Analyst 4.00 \$220.00 \$220,00 \$220,00 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$36,66 nvoice #064831 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 Adam Breitman Analyst	nvoice #062215	· · · · · · · · · · · · · · · · · · ·	Associate	94,00	\$235.00	\$22,090.00
October 1-31, 2008 mvoice #062783 Mark Fadelman John McGraw Vice President Associate 72.50 \$655.00 \$47,48 Sovernber 1-30, 2008 Mark Fidelman Analyst 12.53 \$220.00 \$8,57 Novernber 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 Novice #063430 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 Novice #063430 Mark Fidelman Vice President 1.00 \$655.00 \$8,84 Occember 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$8,80 Novice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$880 Adam Breitman Analyst 4.00 \$220.00 \$820,50 \$820,50 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,665 nvoice #064831 Mark Fidelman Consultant 56.00 \$220.00 \$880 *ebruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$655.00 <t< td=""><td></td><td>Christopher Filiberto</td><td>Analyst</td><td>67.50</td><td>\$220.00</td><td>\$14,850.00</td></t<>		Christopher Filiberto	Analyst	67.50	\$220.00	\$14,850.00
Invoice #062783 John McGraw Associate 36.50 \$235.00 \$8,57 Rachel Tibolt Analyst 12.53 \$220.00 \$22,75 \$58,82 November 1-30, 2008 Mark Födelman Vice President 13.50 \$655.00 \$8,84 Invoice #063430 Christopher Filiberto Associate 67.75 \$250.00 \$16,93 December 1-31, 2008 Mark Födelman Vice President 1.00 \$655.00 \$88,84 Invoice #064829 Mark Födelman Vice President 1.00 \$655.00 \$220,50 anuary 1-31, 2009 Mark Födelman Analyst 4.00 \$220.00 \$880 invoice #064831 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 anuary 1-31, 2009 Mark Födelman Consultant 56.00 \$655.00 \$38,60 rebruary 1-28, 2009 Mark Fidelman Consultant 4.00 \$220.00 \$880 \$47,18 Adam Breitman Analyst 4.00 \$220.00 \$880 \$47,18					55	\$53,970.00
Rachel Tibolt Analyst 12.53 \$220.00 \$2,75 November 1-30, 2008 Mark Fidelman Vice President 13.50 \$655.00 \$8,84 nvoice #063430 Christopher Filiberto Associate 67.75 \$250.00 \$16,93 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$26,50 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$20,50 Novice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$20,50 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 nvoice #064831 Mark Fidelman Consultant 56.00 \$20,00 \$22,00 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$36,68 \$20,00 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$22,000 \$2						\$47,487.50
November 1-30, 2008 nvoice #063430 Mark Fidelman Christopher Filiberto Vice President Associate 13.50 67.75 \$655.00 \$250.00 \$8,84 \$16,93 December 1-31, 2008 nvoice #064829 Mark Fidelman Christopher Filiberto Adam Breitman Vice President Associate 1.00 \$655.00 \$16,93 December 1-31, 2008 Mark Fidelman Christopher Filiberto Adam Breitman Vice President Associate 1.00 \$655.00 \$655.00 anuary 1-31, 2009 Mark Fidelman Christopher Filiberto Adam Breitman Consultant Analyst 56.00 \$655.00 \$36,66 rvoice #064831 Mark Fidelman Christopher Filiberto Adam Breitman Consultant Analyst 56.00 \$250.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 \$47,18 "cbruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,02	nvoice #062783	The second se				\$8,577.50
November 1-30, 2008 nvoice #063430 Mark Fidelman Christopher Filiberto Vice President Associate 13.50 \$655.00 \$8,84 December 1-31, 2008 nvoice #064829 Mark Fidelman Christopher Filiberto Vice President 1.00 \$655.00 \$250,78 December 1-31, 2008 nvoice #064829 Mark Fidelman Christopher Filiberto Vice President 1.00 \$655.00 \$250,20 anuary 1-31, 2009 nvoice #064831 Mark Fidelman Christopher Filiberto Associate 82.00 \$220,00 \$220,00 anuary 1-31, 2009 nvoice #064831 Mark Fidelman Christopher Filiberto Consultant 56.00 \$655.00 \$36,66 *cbruary 1-28, 2009 Mark Fidelman Consultant 56.00 \$220.00 \$880 *cbruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,60		Rachel Tibolt	Analyst	12.53	\$220.00	\$2,756.60
Invoice #063430 Christopher Filiberto Associate 67.75 \$250.00 \$16,93 December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$655 Invoice #064829 Mark Fidelman Vice President 1.00 \$655.00 \$20,50 Adam Breitman Aasociate 82.00 \$220.00 \$220,50 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$36,66 nvoice #064831 Mark Fidelman Consultant 56.00 \$36,66 nvoice #064831 Mark Fidelman Consultant 56.00 \$36,66 *ebruary 1-28, 2009 Mark Fidelman Consultant 56.00 \$36,60 *ebruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,60						\$58,821.60
December 1-31, 2008 nvoice #064829 Mark Fidelman Christopher Filiberto Adam Breitman Vice President Associate 1.00 \$655.00 \$655 \$20,50 anuary 1-31, 2009 nvoice #064831 Mark Fidelman Christopher Filiberto Adam Breitman Consultant 56.00 \$655.00 \$36,66 nvoice #064831 Mark Fidelman Christopher Filiberto Adam Breitman Consultant 56.00 \$36,66 state 38.50 \$250.00 \$36,66 rebruary 1-31, 2009 Mark Fidelman Christopher Filiberto Adam Breitman Analyst 4.00 \$220.00 \$38,80 state 38.50 \$250.00 \$9,62 \$47,18 \$400 \$220.00 \$880 february 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,602	November 1-30, 2008	Mark Fidelman	Vice President	13.50	\$655.00	\$8,842.50
December 1-31, 2008 Mark Fidelman Vice President 1.00 \$655.00 \$655 Invoice #064829 Christopher Filiberto Associate 82.00 \$250.00 \$20,50 Adam Breitman Analyst 4.00 \$220.00 \$880 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 nvoice #064831 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 rebruary 1-28, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,60 *ebruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,02	nvoice #063430	Christopher Filiberto	Associate	67.75	\$250.00	\$16,937.50
nvoice #064829 Claristopher Filiberto Adam Breitman Associate Analyst 82.00 \$250.00 \$20,50 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 nvoice #064831 Mark Fidelman Consultant 56.00 \$250.00 \$36,68 nvoice #064831 Mark Fidelman Analyst 4.00 \$220.00 \$36,68 rebruary 1-28, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 "cbruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,602		78				\$25,780.00
Adam Breitman Analyst 4.00 \$220.00 \$880 anuary 1-31, 2009 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 nvoice #064831 Christopher Filiberto Associate 38.50 \$220.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 rebruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$36,60						\$655.00
anuary 1-31, 2009 nvoice #064831 Mark Fidelman Consultant 56.00 \$655.00 \$36,68 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 \$47,18 Consultant 55.00 \$655.00 \$36,02	nvoice #064829					\$20,500.00
anuary 1-31, 2009 nvoice #064831 Mark Fidelman Consultant 56.00 \$655.00 \$36,66 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 \$47,18 Consultant 55.00 \$655.00 \$36,02		Adam Breitman	Analyse	4.00	\$220.00	\$880.00
nvoice #064831 Christopher Filiberto Associate 38.50 \$250.00 \$9,62 Adam Breitman Analyst 4.00 \$220.00 \$880 *cbruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$655.00 \$36,02					-	\$22,035.00
Adam Breitman Analyst 4.00 \$220.00 \$880 Schruary 1-28, 2009 Mark Fidelman Consultant 55.00 \$655.00 \$36,02						\$36,680.00
Consultant 55.00 \$655.00 \$36,02	nvoice #064831		and the second second			\$9,625.00
Consultant 55.00 \$655.00 \$36,02		Adam Breitman	Analyst	4.00	\$220.00	\$880.00
					-	\$47,185.00
dischard of a man	cbruary 1-28, 2009	Mark Fidelman	Consultant		\$655.00	\$36,025.00
nvoice #065824 Christopher Filiberto Associate 31.25 \$250.00 \$7,81.	nvoice #065824	Christopher Filiberto	Associate	31.25	\$250.00	\$7,812.50
Adam Breitman Analyst 1.75 \$220.00 \$385		Adam Breitman	Analyst	1.75	\$220.00	\$385.00

Annex B2 - Reduced CRA International Account

Page 1 of 3

	Individual	Seniority Level	Period Worked	Rate	Subtotal
March 1-31, 2009 Invoice #065825	Mark Fidelman Christopher Filiberto	Consultant Associate	105.50	\$655.00 \$250.00	\$69,102.50 \$14,500.00
	Adam Breitman	Analyst	0.25	\$220.00	\$55.00
					\$83,657.50
April 1-30, 2009	Mark Fidelman	Consultant	114.00	\$655.00	\$74,670.00
Invoice #066432	Christopher Filiberto	Associate	116.75	\$250.00	\$29,187.50
	Adam Breitman	Analyst	4.75	\$220.00	\$1,045.00
				-	\$104,902.50
May 1-31, 2009	Mark Fidelman	Consultant	119.00	\$655.00	\$77,945.00
Invoice #067260	Christopher Filiberto	Associate	82.00	\$250.00	\$20,500.00
	Abby Haritos	Analyst	0.50	\$120.00	\$60.00
				-	\$98,505.00
une 1-19, 2009	Mark Fidelman	Consultant	38.50	\$655.00	\$25,217.50
Invoice #067284	Ariel Krinshpun	Associate	17.50	\$240.00	\$4,200.00
					\$29,417.50
June 20-30, 2009	Mark Fidelman	Consultant	19.50	\$655.00	\$12,772.50
Invoice #068498				er min regi	\$12,772.50

Cost Breakdown by Seniority			
	Mr. Fidelman	678.25	\$444,253.75
	Associate	806.25	\$196,700.00
	Analyst	136.03	\$29,354.10
		1620.53	\$670,307.85

Individual	Seniority Level	Period Worked	Rate	Subtotal
Mark Fidelman	Vice President/Cons.	678.25	\$655.00	\$444,253.75
Christopher Filiberto	Associate	476.25	\$250.00	\$119,062.50
Christopher Filiberto	Analyst	103.50	\$220,00	\$22,770.00
John McGraw	Associate	312.50	\$235.00	\$73,437.50
Ariel Krinshpun	Associate	17.50	\$240.00	\$4,200.00
Adam Breitman	Analyst	14.75	\$220.00	\$3,245.00
Rachel Tibolt	Analyst	12.53	\$220.00	\$2,756.60
Matthew Ahern	Analyst	4.75	\$110.00	\$522.50
Abby Haritos	Analyst	0.50	\$120.00	\$60.00
	8-010760-00	1620.53	2 2021V 2	\$670,307.85

Annex B2 - Reduced CRA International Account

	Hours	Labour (USD)	Labour (CAD)	Disbursements (USD)	USD Total	CAD Total	Exchange Rate
Invoice #059202	110.50	\$27,936.25	\$28,433.52	\$6,790.36	\$63,160.13	\$64,284.38	1.0178
Invoice #060815	104.25	\$33,355.00	\$34,258.92	\$13,497.65	\$81,111.57	\$83,309.69	1.0271
Invoice #061466	65.75	\$27,747.50	\$29,706.47	\$5,974.16	\$63,428.13	\$67,906.16	1.0706
Invoice #062215	187.50	\$53,970.00	\$63,727.78	\$13,241.74	\$130,939.52	\$154,613.38	1.1808
Invoice #062783	121.53	\$58,821.60	\$72,785.85	\$19,542.44	\$151,149.89	\$187,032.87	1.2374
Invoice #063430	81.25	\$25,780.00	\$32,472.49	\$10,677.20	\$68,929.69	\$86,823.84	1.2596
Invoice #064829	87.00	\$22,035.00	\$27,572,40	\$7,734.02	\$57,341.42	\$71,751.31	1.2513
Invoice #064831	98.50	\$47,185.00	\$59,042,59	\$10,280.20	\$116,507.79	\$145,786.20	1.2513
Invoice #065824	88.00	\$44,222.50	\$53,920.49	\$12,457.97	\$110,600.96	\$134,855.76	1.2193
Invoice #065825	163.75	\$83,657.50	\$102,003.59	\$22,377.15	\$208,038.24	\$253,661.03	1.2193
Invoice #066432	235.50	\$104,902.50	\$123,354.85	\$28,460.82	\$256,718.17	\$301,874.90	1.1759
Invoice #067260	201.50	\$98,505.00	\$113,694.47	\$13,058.38	\$225,257.85	\$259,992.61	1.1542
Invoice #067284	56.00	\$29,417.50	\$34,212.55	\$2,429.76	\$66,059.81	\$76,827.56	1.1630
Invoice #068498	19.50	\$12,772.50	\$13,807.07	\$701.97	\$27,281.54	\$29,491.35	1.0810
Raw Total	1620.53	\$670,307.85	\$788,993.04	\$167,223.82	\$1,626,524.71	\$1,918,211.03	
Discounts					-\$35,000.00	\$40,396.99	1.1542
Final Total	1620,53	\$670,307.85	\$788,993.04	\$167,223.82	\$1,591,524.71	\$1,877,814.04	

	Individual	Period Worked	Rate	Subtotal
December 2007	AW	9.00	\$100.00	\$900.00
	BM	1.25	\$70.00	\$87.50
				\$987.50
anuary 2008	SRC	3.50	\$800.00	\$2,800.00
an ann an	DK	9.50	\$500.00	\$4,750.00
	ACH	9.25	\$475.00	\$4,393.75
	TT	0.50	\$200.00	\$100.00
			-	\$12,043.75
ebruary 2008	SRC	4.00	\$800.00	\$3,200.00
	DK	11.00	\$500.00	\$5,500.00
	ACH	15.00	\$475.00	\$7,125.00
	TT	0.50	\$200.00	\$100.00
	BM	1.25	\$70.00	\$87.50
	10 TABLE			\$16,012.50
larch 2008	SRC	1.75	\$800.00	\$1,400.00
	DK	11.00	\$500.00	\$5,500.00
	ACH	3.25	\$475.00	\$1,543.75
	PMO	2.00	\$350.00	\$700.00
	BM	1.50	\$70.00	\$105.00
	EPA	1.50	\$70.00	\$105.00
		1.00040		\$9,353.75
pril 2008	SRC	27.00	\$750.00	\$20,250.00
Francis	DK	9.00	\$500.00	\$4,500.00
	ACH	16.75	\$475.00	\$7,956.25
	AW	17.50	\$100.00	\$1,750.00
	BM	13.25	\$70,00	\$927.50
	EPA	2.00	\$70.00	\$140.00
			-	\$35,523.75
fay 1 - May 16, 2008	DK	6.00	\$500.00	\$3,000.00
	ACH	0.50	\$475.00	\$237.50
	AW	15.50	\$100.00	\$1,550.00
	BM	1.75	\$70.00	\$122.50
	EPA	7.50	\$70.00	\$525.00
				\$5,435.00
nvoice #CVP17466	Hours	202.50	Cost	\$79,356.25

	Individual	Period Worked	Rate	Subtotal
May 17 - May 31, 2008	SRC	25.50	\$750.00	\$19,125.00
17 A 77 Mar	ASD	4.17	\$600.00	\$2,502.00
	ACH	2.50	\$475.00	\$1,187.50
	AT	5,50	\$400.00	\$2,200.00
	AW	0.50	\$100.00	\$50.00
	BM	2.25	\$70.00	\$157.50
	EPA	0.25	\$70.00	\$17.50
			-	\$25,239.50
June 2008	SRC	4.50	\$750.00	\$3,375.00
	ACH	5.40	\$475.00	\$2,565.00
	VAC	4.50	\$450.00	\$2,025.00
	AW	3.50	\$100.00	\$350.00
			1	\$8,315.00
Aug 1-14, 2008	SRC	1.00	\$750.00	\$750.00
				\$750.00
Invoice #CVP17868	Hours	59.57	Cost	\$34,304.50

	Individual	Period Worked	Rate	Subtotal
August 15 - 31, 2008	ACH	2.00	\$525.00	\$1,050.00
				\$1,050.00
September 2008	SRC	0.50	\$750.00	\$375.00
-276-34-3853-542-4-5			-	\$375.00
October 2008	ACH	0.25	\$525.00	\$131.25
			-	\$131.25
January 2009	SRC	64.50	\$750.00	\$48,375.00
	ASD	1.25	\$650.00	\$812.50
	ACH	44.50	\$525.00	\$23,362.50
	CIO	3.25	\$225.00	\$731.25
	BM	2.00	\$70.00	\$140.00
	1		-	\$73,421.25
Invoice #CVP18736	Hours	118.25	Cost	\$74,977.50
	Unidentified Reduction	-2.00	-	-\$918.75
		116.25	-	\$74,058.75
	Individual	Period	Rate	Subtotal

	Individual	Period Worked	Rate	Subtotal
February 2009	SRC	95.50	\$750.00	\$71,625.00
NOT NUMBER OF	ACH	99.75	\$525.00	\$52,368.75

Annex C1 - Claimed Cole and Partners Account

Page 2 of 4

	CJO BM	70.50	\$225.00 \$70.00	\$15,862.50 \$175.00
			6	\$140,031,25
Invoice #CVP18860	Hours	268.25	Cost	\$140,031.25

	Individual	Period Worked	Rate	Subtotal
March 2009	SRC	53,50	\$750.00	\$40,125.00
	ACH	73.25	\$525.00	\$38,456.25
	CJO	90.75	\$225.00	\$20,418.75
	BM	4.50	\$70.00	\$315.00
				\$99,315.00
April 1 - 17, 2009	SRC	31.50	\$750.00	\$23,625.00
	ASD	5.08	\$650.00	\$3,302.00
	ACH	56.00	\$525.00	\$29,400.00
	PMO	9.75	\$375.00	\$3,656.25
	CJO	76.00	\$225.00	\$17,100.00
	BM	14.75	\$70.00	\$1,032.50
	EPA	1.00 .	\$70,00	\$70.00
			-	\$78,185.75
Invoice #CVP19155	Hours	416.08	Cost	\$177,500.75

	Individual	Period Worked	Rate	Subtotal
April 19 - 30, 2009	SRC	13.50	\$750.00	\$10,125.00
	ACH	8.25	\$525.00	\$4,331.25
	CJO	38.25	\$225.00	\$8,606.25
	BM	0.50	\$70.00	\$35.00
			-	\$23,097.50
May 1 - 27, 2009	SRC	29.00	\$750.00	\$21,750.00
3in 22	ASD	0.50	\$650.00	\$325.00
	ACH	29.00	\$525.00	\$15,225.00
	CIO	78.00	\$225.00	\$17,550.00
	MF	1.75	\$100.00	\$175.00
	BM	7.75	\$70.00	\$542.50
	EPA	8.00	\$70.00	\$560.00
			0000044	\$56,127,50
Invoice #CVP19207	Hours	214.50	Cost	\$79,225.00
	Individual	Period	Bass	Cabra at

	Individual	Period Worked	Rate	Subtotal
May 28 - 31, 2009	SRC	66.50	\$750.00	\$49,875.00

Annex C1 - Claimed Cole and Partners Account

Page 3 of 4

Invoice #CVP19338	Hours	204.50	Cost	\$105,733.75
				\$41,558.75
	BM	13.25	\$70.00	\$927.50
	MF	6.00	\$100.00	\$600.00
	CJO	15.00	\$225.00	\$3,375.00
	ACH	16.25	\$525.00	\$8,531.25
June 1 - 23, 2009	SRC	37.50	\$750.00	\$28,125.00
	and a	2.30		\$64,175.00
	BM	2.50	\$70.00	\$175.00
	MF	8.50	\$100.00	\$850.00
	CJO	24.00	\$225.00	\$5,400.00
	ACH	15.00	\$525.00	\$7,875.00

	Total Hours	Labour Total	Disbursements	Invoice Total (incl. GST@5%)
Invoice #CVP17466	202.50	\$79,356.25	\$10,919.82	\$94,789.87
Invoice #CVP17868	59.57	\$34,304.50	\$2,700.16	\$38,854.89
Invoice #CVP18736	116.25	\$74,058.75	\$4,443.52	\$82,427.38
Invoice #CVP18860	268.25	\$140,031.25	\$8,400.80	\$155,853.65
Invoice #CVP19155	416.08	\$177,500.75	\$10,757.90	\$197,671.58
Invoice #CVP19207	214.50	\$79,225.00	\$613.34	\$83,830.26
Invoice #CVP19338	204.50	\$105,733.75	\$7,212.94	\$118,594.02
	1481.65	\$690,210.25	\$45,048.48	\$772,021.67

Individual	Period Worked	Rate	Subtotal
SRC	9.25	\$800.00	\$7,400.00
SRC	450.00	\$750.00	\$337,500.00
ASD	4.17	\$600.00	\$2,502.00
ASD	6.83	\$650.00	\$4,439.50
ACH	52.65	\$475.00	\$25,008.75
ACH	344.25	\$525.00	\$180,731.25
DK	46.50	\$500.00	\$23,250.00
PMO	2.00	\$350.00	\$700.00
PMO	9.75	\$375.00	\$3,656.25
CIO	395.75	\$225.00	\$89,043.75
VAC	4.50	\$450.00	\$2,025.00
AT	5.50	\$400.00	\$2,200.00
TT	1.00	\$200.00	\$200.00
AW	46.00	\$100.00	\$4,600.00
MF	16.25	\$100.00	\$1,625.00
BM	69.00	\$70.00	\$4,830.00
EPA	20.25	\$70.00	\$1,417.50
	1483.65	10 10 10 10 10 10 10 10 10 10 10 10 10 1	\$691,129.00
Unidentified Reduction	-2.00		-\$918.75
	1481.65		\$690,210.25

Annex C1 - Claimed Cole and Partners Account

Page 4 of 4

	Individual	Period Worked	Rate	Subtotal
anuary 2008	SRC	3,50	\$800.00	\$2,800.00
			-	\$2,800.00
February 2008	SRC	4.00	\$800.00	\$3,200.00
				\$3,200,00
March 2008	SRC	1.75	\$800.00	\$1,400.00
			-	\$1,400.00
April 2008	SRC	27.00	\$750.00	\$20,250.00
	22303028			\$20,250.00
invoice #CVP17466	Hours	36.25	Cost	

	Individual	Period Worked	Rate	Subtotal
May 17 - May 31, 2008	SRC	25.50	\$750.00	\$19,125.00
			-	\$19,125.00
June 2008	SRC	4.50	\$750.00	\$3,375.00
				\$3,375.00
Aug 1-14, 2008	SRC	1.00	\$750.00	\$750.00
- 65 - 14			-	\$750.00
invoice #CVP17868	Hours	31.00	Cost	\$23,250.00

	Individual	Period Worked	Rate	Subtotal
September 2008	SRC	0.50	\$750.00	\$375.00
			-	\$375.00
January 2009	SRC	64.50	\$750.00	\$48,375.00
			-	\$48,375.00
Invoice #CVP18736	Hours	65.00	Cost	\$48,750.00

	Individual	Period Worked	Rate	Subtotal
February 2009	SRC	95.50	\$750.00	\$71,625.00 \$71,625.00
Invoice #CVP18860	Hours	95.50	Cost	\$71,625.00

	Individual	Period Worked	Rate	Subtotal
March 2009	SRC	53.50	\$750.00	\$40,125.00
			-	\$40,125.00
April 1 - 17, 2009	SRC	31.50	\$750.00	\$23,625.00
	10-100000-		-	\$23,625.00
Invoice #CVP19155	Hours	85.00	Cost	\$63,750.00

	Individual	Period Worked	Rate	Subtotal
April 19 - 30, 2009	SRC	13.50	\$750,00	\$10,125.00
				\$10,125.00
May 1 - 27, 2009	SRC	29.00	\$750.00	\$21,750.00
				\$21,750.00
Invoice #CVP19207	Hours	42.50	Cost	\$31,875.00

	Individual	Period Worked	Rate	Subtotal
May 28 - 31, 2009	SRC	66.50	\$750.00	\$49,875.00
	10092109		200.000	\$49,875.00
June 1 - 23, 2009	SRC	37.50	\$750.00	\$28,125.00
	11950112		-	\$28,125.00
Invoice #CVP19338	Hours	104.00	Cost	\$78,000.00

Annex C2 - Reduced Cole and Partners Account

	Total Hours	Labour Total	Disbursements	Reduced Total (incl. GST@5%)
Invoice #CVP17466	36.25	\$27,650.00	\$10,919.82	\$40,498.31
Invoice #CVP17868	31.00	\$23,250.00	\$2,700.16	\$27,247.67
Invoice #CVP18736	65.00	\$48,750.00	\$4,443.52	\$55,853.20
Invoice #CVP18860	95.50	\$71,625.00	\$8,400.80	\$84,027.09
Invoice #CVP19155	85.00	\$63,750.00	\$10,757.90	\$78,233.30
Invoice #CVP19207	42.50	\$31,875.00	\$613.34	\$34,112.76
Invoice #CVP19338	104.00	\$78,000.00	\$7,212.94	\$89,473.59
	459.25	\$344,900.00	\$45,048.48	\$409,445.90

Individual	Period Worked	Rate	Subtotal
SRC	9.25	\$800.00	\$7,400.00
SRC	450.00	\$750.00	\$337,500.00
	459.25		\$344,900.00

Annex C2 - Reduced Cole and Partners Account

Page 3 of 3

CITATION:	2010 TCC 490		
COURT FILE NOS.:	2006-1385(IT)G, 2006-1386(IT)G		
STYLE OF CAUSE:	GENERAL ELECTRIC CAPITAL CANADA INC. v. HER MAJESTY THE QUEEN		
PLACE OF HEARING:	Toronto, Ontario		
DATE OF HEARING:	May 31, 2010		
REASONS FOR ORDER BY:	The Honourable Justice Robert J. Hogan		
DATE OF ORDER:	October 15, 2010		
APPEARANCES:			
Counsel for the Appellant:	Joseph Steiner Neil Paris		
Counsel for the Respondent:	Justin Kutyan		
COUNSEL OF RECORD:			
For the Appellant:			
Name:	Joseph Steiner Neil Paris		
Firm:	Osler, Hoskin & Harcourt LLP Toronto, Ontario		
For the Respondent:	Myles J. Kirvan Deputy Attorney General of Canada Ottawa, Canada		